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- Ina magnetlc ﬁeld due to a bar magnet placed with 1ts north pole facmg north, the null
points lie

(A) At the centre of the magnet ‘ ' W On the equatorial line
() Onthe axlal line (D) No where in the field
P S &rrpgmrrmg SFH QUL FHUD, L EG Hosmwu Cpréd @@a@mrramm srrm,suqebgﬁm
sflyerefladr eradmagd , : .
A) sl ampgsdler mvwiuGHGe - ®B) T m,sﬁu.l Gumsuﬁla)
©) sigen HF&CaTLIgD ' (D) a;nm,sqm,s,ﬂéo CTRIGLD @@s&n’g

Aocord.ing to Bohr’s principle, which of the following is quantized? |

A) Kinetic energy ‘ - (B) Potential energy

©) ~ Linear momentum A UD)’ Angular momentum

Gunfien Qa;rreir_m&uﬁ\&ru \g., tSeeuHeueTaUHDIET erge mﬁﬁq Geurer LuBSEUIULYHESD?
Q) BPuésydpd - - B pPee dpd

(C) Cprepgd - (D) Casurer 2 psd

Increase in conducuwty with increase in temperature is seen in

(A) Insulators (B) Conductors
‘}Qf Semiconductors : AN ®») Superconductors.

' GQeutiu flenew a@stﬂa;@m Curg &.5g ,ﬂmm cT,ﬂa) aﬁ&lﬁsﬂmg)g

A) BeansLgsn Qumpser (B) sLSHaer

(C) @wops_gPasr . _ D) Lbas sHser

.

Which of the following statements is not correct in case of turbulent flow of fluids?
(A)  The velocity of the fluid is unsteady
- (B) The flow is highly disordered
The velocity of the fluid is less thax critical velocity
(D)  The velocity of the fluid is high | |
uminokisefen spHH UL SHD, Lﬂlmm@mmm;pgar gsug)rrat SaDM TFI?
(A) umdingSen Gm&m Srposl
®) oL gyhsppss Qosen
(O umiwiSer HensCausid rpfle ﬂm&@magsmgeﬁt_ GPpUTTETS DHESD
D) urru.lm_gﬁar SemsCausid QU Pl Qsram_gns QHESH '
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- & Find out the values of a, b, ¢ and d in the equation : I10; + al- +bH"* - cH,O0+dI,

(A) 3,3,6,6
© 6532

\'aa)’zs,s,a,s

@) 5,362

I0; +al~ +bH* - cH30+ dl, eréinp swerum_era, b, c LHED d-dr wWHLILS@T STeTSE

(A) ‘33 _3’ 59 6
© 65382

6.  Match the following :

(a) “Copper giance
®) Willemite
() Horn silver

(d Zincit.e

@ ®
@ 3 4
® 3 2
er 2 3

1

® 4

Qurmsgis :

(@) asmiuf emrenv
b)) efldefenoi
© qoivdr Hoauir

(d Sruews
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@
. ®
©
D)

oo W W
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OO b ek

©

©

[
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(d
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LN L

(d

N A AN

®) 5633
@) 5362

Chloric_le ore

 Sulphide ore

Silicate ore -
Oxide ore
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9.

A current was passed in series through a solution of a salt of a metal X and a solution of _
ZnSO4, platinum electrodes being used. After a certain time, 0.3480 g of metal X and

1.264 g of Zn has been deposited. The eqmvalent weight of metal X is
(Eq. wt of Zn = 32. 7 gleq) : -
@A 18 Y A&

© 21 @) 36

X cran;p Lcmnsgﬁen e (IUE Sangsd WoHGID ZnSO, smqmsar @ wfmsdid edear Cung, -

Qerm i amb Wereumiisdt LTRSS WansTyd QsgussLLGEDS. 0 @ﬂISILL snw,sﬁm@ ey
0.3480 &ymd eran_wdrar 2 Coorsd X wppd 1.264 Lgmd erenLuwjdrer Zn L 50 L Apg. weflé

- o Gaoraid Xeir swonen erent iy —————— (Zn &t somen cren, 32.7 &/s.onemb).
@ 18 ® 9
© 27 . @ 36

Which of the following is not a hatural polymer?

(A)  Cellulose
(B) Proteins
{C) Rubber

& Poly VinylChloride (PVC)
ﬁéré:@aimmér Qupemsid e sarg uauy. Qurmer arg?
@)  QsogGons |
B) yrghsdar
© @orour

o (D) umed) sﬂmméa(ngaiq@ (96l )

Five kingdom classification was proposed by o
\M Whittaker | ~(B) Linnaeus

(C) Engler | - (D) JohnRay

BHIHDE CUDESLIM _lq. NG @é@mr@lﬁsgw‘r |

@  cGlssi ®B) SeGanucd
© Qe (D) ggmen Gy
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10.  Consider the following statements. .
Assertion : Farmers grow a leguminous ctops and plough it back in the field.

Reason : Leguminous plant fix the atmospheric ﬁitmgen through Rhizobium and add in
- soil. : ‘

\% - Both Assertion and Reason are true and the Reason is a correct explanation of the _
~ Assertion '

(B) Both Assertion and Reason are true but Reason is not a correct explanhtion of the
' Assertion )

(C)  Assertion is True but the Reaaon is False
D) Both Assertion and Reason are False

Ylereuqmd aa.m;ﬁlmar smeHe Azrers.
SapDOl : afleusmiser sﬁlm&rrugﬁm@ Qe a.lu.la)asaﬁa) Siaueny GHLL STATRS®ET uaTTE)
Sing wemeniier CHmLomgy a@gsﬂ Gdenpen.

SMewd | Sjeuey GHLU Freugriser aefloam_wsHd o drer enplrmener 'a)uG&rrtﬂuJ{sﬁldr
‘ 2 safluLen wamefld Heafnsgddang. |
A)  spm LHPID a;rrqémb @qaiur@fn alﬂ Gmgﬁfn SaDMIES c)';b;b sfuner Aarésib
B) smHm mg)gqm STyeRrD @Usm@w &il. Gugib sppéE THo erﬂu.urar aflardside
© apm sf syame STPERTLD s ' '
. (D) &mgm SMIERTAPLD Seum

11.  Multimedia is a combination of |
(A) Audio and Video only
(B) Video and animation only
(©) Animationonly
\)B)’- Audio, Video, Animation ahd Text

106 Big i ereLIg) @mmsaﬂsﬁ Gairtiy

A  =rCur, aﬁq.Gu;rr Qi

®). eﬁtq.(zﬁ'_lrr aaﬂcmaq.én . HLd

(C) aaﬂ@maq.m u:t.@m

D) =g,u}.('p’u.m' afiig Gui, a&aﬂcwaq.ar Lomg]w Gl_a;auL.
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13.

14.

\JB""‘

A computer program that converts an entire program into machme language at one t1me is

called .

(A) - Interpreter o \,@B(Compiler _

(C) Generator (D) Simulator

e saflu@urller flrd @ gLsneu B WP ;ﬂr,ra)mwqu Qumg Gmu@s@ wrHpeMS
———— GTEHTUIT.

4A) afl umnd vrHH _ . B)  Gumf wrHi

© epursd o D) uraeeanurES

The features of Stalactite and Stalagmites ayﬁated with

(A)A Glacier : Karst topography 7
4 (©) Wind _ | : C (D) Sea waves
OLADEMLL DPIID GoLTeSenLL Grarueu BsgiLen Ggm_rrqu.u.lmm
A umﬂ% : B) smicvi floliGyCssd
© &y | D) s & H@QEET -
Match List I with List I:
List I List II
~(a) AF " 1. - Tundra
- (b) BS 2. Desert
(¢ BW 8. Steppe -
(d ET 4.  Humid
@ ® © O
A 3 4 2 1
®B) 4 3 1 2
© 1 2 3 4
3 2 1

uCigwied @ar;ﬁwarr L g wied GreRTGLen Qun@gﬁ sflwrer aﬁlan_mtu Ggrre; Q&u.na;

ucguwe I utgwed IT
(a)  AF 1.  gpdlom
- (b)y BS 2. unMGUEILD
“(¢) BW 3. @S
() ET 4. mrweT e
@ ® © @
A -3 4 "2 1
®) 4 3 1 2
© 1 2 3 4
O 4 3 2 1 , : - ,
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15. Maf.ch the following dams with the states in which they are located :

(a)
(b)
©
(d)

v
©)
D).

B |

List I

" Hirakud project

Nagarjunsagar project
Rihand valley project
Periyar project

- ListII
© L Andhrapradesh
2.  Kerala -
3. Uttarpradesh
4.

@ ® @© @

4 1 3 2
2 4
4 3 2 1
4 3 1

9 -

 Odissa

&Gy Glasﬁ@é;&ﬂui@d-rm SIOCHTEENGH DEDEUSEET aa’:mﬁgéwr wrfledsGam® QurBSgs :
udguwe I .

()
(b)
(©)
(d)

aflgr@l S b

pranigen srsit S b
@FE@I_ LETeTSSNES S L b
QuilurT Al b . -

- uCige 1T

N e

fasm

@ ® © @

A) 4 1 3 2
- @® 1 2. 3 4
© 4 3 2 1
D) 2 4 3 1
16.  The value of solar constant is
(A) 4.5 calories/cm?minute

v

2.0 calories/cm?/minute

;@Iﬂlu wmhled’ — ullelr oy

@)
©

17.  The local wind which is known as ‘Snow eater’ is

4.5 &Gamiﬂ/Q&Lﬁz/;ﬂLﬂv_Lb '
2.0 sCerifl/ Qs /BB

- B

®

®)
o)

®)
D)

‘el o el Grenpep&sLiLBL FRESTHIH

)
©

HC1GS/16
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19.

Match the following :

Sphere ' ' Related to - -
(a) Troposphere 1. - Chemosphere ‘
(b) Stratosphere 2.  Mother of pearl clouds ‘
(¢) Ozonosphere 3. Region of mixing "
(d) Ionosphere 4. Awurora -
(@ ®  (© @
@A 1 2 3 4
®) 2 1 4 3
© 4 3 2 1
V@f 3 2 1 4
 QUITmESIS _
QgnaHser - QAgm_ry
(@) L CyriCumev@uwi 1. QsCGurevdui
®) oG Cmev@ui 2. epésLiGurenp CussHdr smil
(©) - gCanCanmevi@uit, 3. seuuL QAsrgd - |
- () -guCarmaviSuii 4. Cymym

@ ® © @

@ 1 2 3 4
- ® 2 1 4 3
) 4 3 -2 1
D 3 2 1 4

Identify the place which lies in the rain shadow region of the Western ghats.
L Mumbai
" II.  Coimbatore

III.  Benguluru _ -
IV. Goa o | .
(A)  Ionly (®) I, Iand I
€ Mandlm \g@7 Monly
Cuop@ AgTLids wewuller wenip oDy ﬂﬁ@g&ﬁ@é aqa)m;'bgéfm B mg DML WNETD STETS.
I pbeu - |
II. Carea
I Quiss@sm
IV.  Caneur wmfleb ‘ _
(A I i @i | ® L HuwpgoIl
(© I wppeIl @) Hwi@bd "
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20. Which of the following is a correct éxplénation' for the Abbreviation IFAS?

).
®)

N\

D)

Indian Forest Area Service
India Financial Accounts Sérvice A
Indian Frontier Administrative Semee

International Force for Aman Servwe

IFAS arenp a‘:@&smrrar-mrrfr{smglﬁldt efifleunésid wirg?

@
®)
©

®)

@b cwer ugH Caenau
QiHu HS samie Comas
Dpdu o fireuns Cameu

2w Ceamaussrer Latamm_ () LieL

21.  Consider the following statements. A
Assertion (A): . The act of civil ‘servant is by convention regarded as the act of his-

" Minister.

Reason (R) : It is recognised rule of Parliamentary practice that the critiéism of

"

®
©
®

administrative. action must be framed as criticism of Minister not as
criticism of Civil Servant.

Both (A) and (R) are true and (R) is correct vexplanation
Both (A) and (R) are true but (R) is not correct explanation
(A) is true (R) is false |

(A) is false but (R) is true

Yeneumib spflenan smsHd Qamers.

Haverey : ) Sifanfisefen Jﬁumtq.&masdr wpdfisafidr gL smssmen gH5 sreariLBH.

SFeRTLD o umgrEBweTD eupssliLiy: L Guppeuisaier meq.émssdT. sifsrismar

@
®)

©
D)

HC1GS/16
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23,

Match the following :
Authorities ‘ _—
. (@ Comptroller and Auditor General of India
(b) Attorney General of India
(© Finance Commission
(d) Official Language Commission
@ ® @ @
4 3 1. 2
B 1 2 3 4
< 3 2 o 4
O 4 3 2 1
sfwuraraiben QU sgs
- NS SiEOOLIL|EET
- (@) @pdwunellen samée HMLD Faflsma
O sLeUUN_@ seeawn sifsr
(b)) @pHu sirfleén semaew aupssHiEsT
() B yeembd
(d) omEsfssiu’ Gmn@&@é&rrm_%mmuub
@ & @ @O
A 4 3 1 2
®B) 1 2 3 4 -
© 38 2 1 4
D) 4 3 2 1

W N e

»

' Articles |
 Article (280)

Article (344) -
Article (76)
Articles (148)

el Jser

. (280) b e

(344) b A
(76) b A
(148) b o8

Which of the following subject is included in the concurrent list of the constitution of India?

@
®)

®

Citizenship
Interstate rivers
Trade unions

All India services

Quirgil Ul g wedled 2 erem_rkidlu|eTer Fieo .Gl'gj? ,

(4)

®
L ©
©

G wfieno |
wifekseErsdeaCuwiner HLHE6T
QgmPperiiaiiadr

2ifle @b Lesfisar
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'24.  Which of the fo}iowing electoral systems have been adopted for v@arious elections in India?

1. System of direct election on 'the basis of adult suffrage.
2. System of proportional representation by means of the single transferable vote.
3. List system of proportional representatlon '
4 ‘Cumulative system of indirect elections.
~ Select the conject answer from the codes giveh be_lb,%v) T
: | .Codes : ' ' » . '
\,(Af land2 I ®) land3 .

© 1,2and3  ® 23and4

@m@uﬂeﬂw pl_ys,s umcmgn G,sn,saa&aﬂco tﬂaru;ngnuuu_ (Sgtr,sw e srgl?
1L awgy apGsmssrer Cprs. Caiigd wep. .
2 @DeOD LIPY arsselss ums Qaiuiug L QSIQQW#GW SrdfHsgse apenp. -
8. dAdgnsery ArBPHbgian ppenp. -
4. wapys Caisd JAHEG . :
&G Gsw@muut._@errar auflengufcin eﬂﬂu.mar a‘ﬂan_cmu Ggrrmg GT@&

uflens : _ . :
A 1loppn?2 ~ (B) lwppv3

©  1,2vppe3 . (D) 2 3uwpg 4

25. Centra.l Vlgﬂance Commission was estabhshed in

\JI 1964 | | B) 1963

© 192 . ® 190

wHu oampé serareiiiny Q@D & HUTESILILL S

A) 1964 _ ‘ (B 1963
(©) 1962 o D) 1960

26.  Rajiv Gandhi was appointed as Prime M1mster of Indxa on ' o
‘ 31# October 1984 B) . 31s September 1984

.(C) 31*November 1984 (D) 31+ December 1984

Brreley anpd 151|;r§u>r,rrr5 ,ﬂu.:msmn quJuJULn_l_ Brer o o _

(A) 31— per, , S1&GLITUN, 1984 (B) 31-1b prer, QEI_LIL__Lbufr. 1984

. (©) 31—t prer, peutbusi, 1984 (D) 31—ib prem, g sibuir, 1984 o
HC1GS/16 S 12 | e



o
27.

28.

29.

.Consider the ‘following statemeﬁts
All the Reports of the Comptroller and Auditor General of India.

1. Relating to accounts of the union and aocounta of states are submitted to the
President of India.

.2. Relating to accounts of a state are submitted to the governor of the state. -

3. - Relating to accounts of states are submitted to the Union Minister of Finance.
Which of the statements given above is correct?
1 only ‘ | @B) 2only

(C) . 3only : » ' (D) 1and 3only

Gemaud sapiflenar a@,sgﬁla) Qarers. :
@m@mmﬁ!w FOWD SRTEST DHHID seflams a@smﬂu&lm aa)argsg agﬂmu@w

1. - wsfu . whmid Lorr;ﬂa)msaﬂar SIDTGF! ms@a@m LEE @lq.u.umg BOVUMES
- swm9ssLUpS. '

. 2. wrfleshen samse Agriunama SiPaISgID wmle cg,@p@s@ sl.orrl_‘ala;a;uu@gw
a2 wrflotsaldar sansg wiHu B @wssmie SONAEEILESD. _

- Cup@erenear sppaefier ereneu swimeng?
(A) 1wi@Eb - B)  210L b

"_(C) 3wife . ©) lopmb3wi@n

The Second Administrative Reforms Commlssxon was constituted by the government of

- India in the year

(A 2006 - o B) 2007

(©) 2008 S\ 2005

Grem_reug) jﬁlr’r;‘ul}& Erdmis geemud HHw aq&m{us@gn& SiMESIULL. ATH
(&) 2006 S B) 2007 . |

- (O 2008 o (D) 2005.°

The Constitution of India recognises
Religious and linguistic minorities
(B) Religious, linguistic and ethnic minorities
(C)  Only religious minorities -
(D) Only linguistic minorities

QbHuw srflueeoy @mmmm@tﬁ:&aﬁ&ﬁm@j
(A) w5 wHHD Quomf Apureremd :

- (B)  1g, Gwmd wHpd @araﬂggurraumm
(©) wsfpunraneio L Hib

D) Gmrrg? Siyureneniy LoL_@tiS ' |
| 13 o HC1GS/16
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30. Point out the wrong statement

A
®

Traders and merchants fortned gullds or shrems
These guilds were 8o rich that they had shlps and Banking system of their own

W They did not pfovide any help to the Buddhist and Brahmi Scholars

)

They were not only wealthy, but also known for their kmdness benevolence and
chanty -

Seupmesr QSlsoLa)tu s (191 Ssa b

)
B)

©
o

eflwrurfls@nd, euerfls s e ‘&ocqaﬂ erea auemilst Gy’ eTenp a:cmoﬁaau qﬂ;u@ﬁﬁam‘r.
‘cuarfiar @’ efld @b Quppeirser Asdeaupgiaemms Bmpsseme mrarﬂa;@m SUILIGE(EHD
UGS WBSTTEET <

SDIUTEST LSS FSSUTEGLD Lo;pgxm L‘ﬂmm& Gwrr;ﬁ UDPIBHTEEHEEGLD 9.5&16{!]&)“)0) |

- SaTEaT  QedaubsiaeT mL®Lommlrgj aan.;m siwé  fAbgmenyb, Fas GeRTpd -

Reppgaiisar

31.  Who started the weekly ‘Oru Paisa Tamilan’ in Tamil Nadu? |

@)

&

©
®)

Thiru Irattaimalai Srinivasan
Thiru Ayothee Thass

Thiru M.C. Raja

Thiru E.V. Ramasamy Naicker

N

SRPHT 130 ‘R LT 5@9@5’ eTenp Uy Qs LTSS L u.urrr? ,

GV
®)
©)
D)

A, @m_au._ wener Feflarsen

Am. CursH s . ,
Hw. b A, mrgglr' v ) o
Am. r.Ga. @rrosmd puwé&fr . |

32. Wluch portuguese governor abohshed sati and cthd marriage in Goa reglon?

(A) ' Francisco d’Almedia \,@{ Affonso d’Albuquerque
© Diogo-Lopes-Sequeira D) Duarte de’ Menezes
aps Gurrrrgg&ﬂu.: cg,@ysrr Gsreur ug@uﬂm GYhog Hmward LHHD & L 6 SLeL b u;pssmr
g Auaupenp 755 GaLgTT?
(A) QyrenadlevCan 4. — BideLT _ (B) 2AOCUTHCa 14 SL&TE
© tq.u._lrrGa;rr - Gaomuien — H g - (D) GwCrl - 1 — Quefiediav
HC1GS/16
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- 34,

Which one of the follqwing is not correctly matched? |

I.° Kaka Kalelkaf - Gujarati writer

II.  Vallathol . o Malayalam writer

III. Jainendra Kumar _ Hindi writer
-IV. Mamawarerkar  —~  Assamese writer

@ 1 | o ® I

© m = W v

Spaseim.. mﬁ)g&aﬁé‘) g shuns Qurmpseldme?

L snar sGodst - egEd Qumf erapsstent
II. «oaGsred - e rpssTeTT '
T  QguiCemidy @wrrr'r‘ = ofipd erpggmemt
IV.  wmorauCrist - Sevevms erpsmant
@ 1 o ® I
© m ® IV

Consider the following statement :

StatementI : The nationalisation of banks took place in 1969 and some private sector

R units rendered sick and waiting to be shut down, were nationalised in
1976 ' ’

‘StatementII : C. Rajagopalachari, was a known advocate of the fre;: market philosophy

Which statement is/are correct?

@ Ionly - ~ \J¥ BothIandIl.

(©) Honly . (D) Neither I nor II

Spsam ansunismar seuafl :

ameml 1969 - & auiidsdr CsAw wwwrsslLLLar wHHID HABS WHHD Se gaﬂﬁ_urrr'r

auiidlsar apBw ey STSHAGHS! Geir 1976 - & Casflw bwwrEELIULLT
smeg Il : . @ulrg&nunmn#;sntﬂ wm@u& spens gﬁgm{smgﬂmﬁnﬂ@mﬁ
'@m;i)‘;ﬁléancrgjlera)@ &f? , | ' |
@A) . 1ol@od - | ® lwopgopll
(© IIlwvl@Eb ' - , 7 D) Ibgaoeell b ome |
' 15 | . HC1GS/16
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35.  Match List I with List IT and choose the correét.’ answer from the codes given below :

(@
®)
©

(d)

©@ O © @

.o\
S ®
©
o)

ListI
Chennakeshava Temple -
Hoysaleswara Temple

Keshava Temple .

. Panchakuta Temple

4 1 2 3
1 4 2 .3
1 .4 3 2
4 .1 3 2

List II
Halebeedu
Somanathapura .
Govindaﬁaham»

Belur

L igwe I Ampgl ulnwe I AQurspsgs. sfuner sSleoeow @;ﬂuﬁ@&aﬂaﬂ@ﬁg CaipQs® :

(a)
(b)
@

@

ulgwel
QeanenCaseuir Camdld

Gapmisdeeveuri Cambléd

-Gmr'r Gamule

LErasaL T Camufd

@ ® © @

@)
®)
©
®)

HC1GS/16

4 1 2 3
1 4 2 3
1 4 3 2
4 1 3 2

uCgwe IT
ansiiS@
GemoprgLimd .

Carelllgpaded

Cugni -

‘16



K

Consider the \Statément and Reaéon, choose the coi'rect answer from the codes given below :

Statement (A) :

Reason (R) :

. Tamilaham is in the tropical region and for the major part of the year the .

weather is warm. People wore suitable dress. The excellent texture of the

clothes has been commented upon by the poets of Sangam age.

Rlch ladies of Sangam age are stated to have worn “Kalingam” which was

a famous vanety of ﬁne cotton.

VM/ Both (A) and (R) are correct. (R) is the correct explanatmn of (A)

®B) Both (A) and (R) are correct. (R) is not the correct explanatxon of (A)

(O (A)is correct but (R) is wrong

(D)  (A) is wrong but (R) is correct '

- L

QsTRESULC QT uIFsDd WHHD STTTSMSE 5@@@ Ga;rram@ &Gl.p Gsw@s&uur.@mar
GHuS @saﬂso @@p@ sflwnen eflepL_eow ngm@g@ '

ainssd (A) :

sryesrd (R) :

glﬁplmb u,mg@tu ' Gpens ugfﬁmd.l ellg  dewpimlugred %&TN}G&T
) Qu@tbu:ra)rrm prnl..saﬁa’w 2 GYERTLOMGH &G,snd*m Heoa sramiu@Epg. wiser
' §@§u.msar 2 Lseer sefipgar. sus srolr Lorsdr a@mmu.mm gexﬂ

| QUMSEMET gmsar um...o.)saﬂa) @;ﬂunﬁl.@armarrr

.

- SIS &T® 2 WGy Quemser gt crénpepEELILBD, Qm'ebéﬂ'm u@w

YeLsaar safipser.

@A) ppid B Greneis s ®), (A) ipsrear suren denisiens GarGéddns

(B) (A) wppw (R) @q@r@tb &fl. (R), (1{) eﬁiﬁsnar Eﬁuﬁd eﬁlar_é;s_:b ais'ua)

©  (B) wi G s gyeme ®) shudbe

(D) . (A) sflweoe e (R) wl_@Go af

7 o " HC1GS/16
- " : [Turn over



- 37 Conslder the following two statements, one is Assertion (A) and other as Reason ®). Select
the correct answer using the codes given below. :

Assertion (A) 3 Ramaswamy Naicker founded the Self Respect Movement in order to

' promote rational thinking, self respect, self thinking and self confidence in
the people to enjey soeial and political freedom.

Reason (R) : To populanse the plnlosophy of the movement Ramaswamy Naicker

@

®)

©

W

- worked with the Indlan Natlonal Congress |
Both (A) apd (R) are false statements :
Both (A) and (R) are tiue, (R) is the correct explanation of (A) -

Both (A) and (R) are true, (R) is not the correct explanation. of (A)

(A) is true (R) is false and (R) is not the correct explanation of ()

Qemaimid aursSuikisaiic augbgj (A), smrend (R) agfueeausenar s@ﬁ@d) errair@. Spargd

qu@aqsaﬂe&@'sg emise eflent ehwg Csfley Qalis.

-sapm (A) : wésdr pCurég fpswmen, sw mlﬂmrrmg. su Apgmen mp‘jzyl.b s pbsms

knyami: ®): s.umtﬂtutrsng BuasiHen wmw Gswouss Qi Csw a;rrmﬂlml_m

@
®
©
®

HC1GS/16

mew'rﬂu,sc‘n Qpod SEpETL — DAL sspdirseasts Qup grosmd prusst »
DIQURSET F mtﬁturraxg @mw Ggrrmgsﬁl,sgmr

Qe Gwé:um.'.l,.lrl'r.
(&) wppi> (B) Brein@id gaup
(A) wpgid (R) sfwrareeusdr, (R) (&) dpsner shwner cllanésd Sehsfpg

(8) wpgid> (R) shunareessdr, (R) (A) eflpsrar shurer cllerisd siaféselimm

Q) sflureng (R) gmmtr_arg, (R)v (A) dlpsrer sflwrer eflemssh Hefssaldena

. _ - (_



38.  Pick out the wrong statement.
. (A) -Subash Chandra Bose was quahﬁed in the I.C.S. Exammatmn

3B) Subaeh Chandra Bose was elected Premdent of congress for two donsecﬁti\?e terms in
1938 and 1939 -~

©) Subash Chandra Bose co-operated with C.R. Dass

\ﬂ{ Subash Chandra Bose supported the_ decision of congress to partnnpate in the round

table conference

' ?,a.lmrrar sapep Siné STL ey,
(A)  surey sﬁsﬁq Gurra’u-g.ﬂ..crdo Gairalilér Qauemprrit
B) 1938 wppid 19_39 Q‘ﬂu.: Qren® em@ad Qg ipg sridyed sooapns sLmdy ST
 Gume cgﬁ;soggs;uugu& | V. :
(C) C.R. grevég sunay spdy Gurrero wa@uqs Qarr@gglrrr
D) smdgev, el Gueg mrrgmn..@sg Qsée Qa;rram@ m;r,p ,Smorrmgmg suney #pdly Cumrev
- Mg )
39.-  Of the Kakori conspiracy case who wefe'ﬁang'ed? ‘
\,ﬁ({ Ram Prasad Bismil an& Ashfaqualla
o (B) Chandra Shekar Azad and Ashfaqua]lakhan
(C) M.N. Roy and S.A. Dange
®) Shiyaprasad and Ramprasad

&Canl 58 quipbfle GIEBELULIL L auitsdT wmi?

A) @rmb Gysrs GevSid wHHD aa‘ougéoam »

B) - spfyCsai ooH DHHID SGVLIGORTETE ,
© | GTLD. 6TERT. r,rryu’.1 mﬁg& GTG'I;.GT; LmaGs |

D) Saulgeng Lb;bmtb Qb rens

< - - 19 | ,  HC1GS/16
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40. Consider the following  statements and choose the correct answer ﬁ'om the codes g1ven. :
: below. . ' '

As’sertioﬁ (A): The Nationalist Muslnns under the leadership of Maulana Azad
. Dr. Anzari supported Nehru Report whole heartedly

Reason (R) : The congress supported the Khxlafat movement.
(A) Both (A) and (R) are true and ®) is the correct explanauon of (A)
\@&™ Both (4) and R) are true but (R) is not a correct explanation of (A)
(C (A)is true but (R) is false
@) (A)is false but (R) is true

3@&5“‘@1‘5 ansdiikismans saafl. siurar oo GHBGsRGEs Csiay ‘Q.ms. '
s (A) : Loma)rram IS m;b@l.b LrSLT  Sienamfl ;%Q(Surr.r'rsaﬂ.dr gaoawuderen
Csflwauns apavallibsdr Cpm flEmase @ warGsr® .g,@usuaﬂggamr
sayemrd (R) : forung QuésssHne asmm&uem qwumaﬂm
Q) A wvpgd R) Gras@GCu &M Cogin (R) crdm_lg (A) dpE sfwren efleTéswd
®) (&) wpgo R) Gran®Gu sfl gemsd (R) aang (A) dlbe shuen cflarésinde
(O Q) sl gams R) saup | ) -
@ A soup ams (R) f

~ 41.  Which one of the fo]‘lowingia correctly matched?

(&) Devendranath Tagore - Indian Reform Society
(B) KeshabChandraSen ~—  Tatva Bodhini Sabha
\}C{ Veeresalingam - Soclal Reform Assoclatxon

(D) AtmaRam Pandurang-' - Suddh1 movement

Epsam_cupper crp,s eom elﬂu.ms GunwuuLGWWQ?

@ Gﬁcmﬁﬁvmﬂﬁ gromi . - @ Sidwis 6@@
® GastispyQsa - ga GunBafl sur

© oSCredisd | - sepsbifmps st
@ aybonmd urangyi - s @uasi>

- HC1GS/16 . 20 | €



43,

Which one of the following statement is wrong? -

» (A) Nehru was the Vice - President of Interim Government

(B) Wavell plan was announced in 19t Sept. 1945 -

(C) Indian National Army was formed in 1943

\ﬂ/ Simon Commissibn first landed in 1928 in Gujarat -

' &gsm;mgmm THS G SuDTETRe?
| A @am_ulm) au&rrmsgﬁw Cpm gianeas gmmmmr& QmBHrT
B 1945 Qs buir 19 ey Gauaud AL 1b sifleliéastiu L g
(© 1943 sy e Qﬁ,ﬁu GaAlu Grrggians SonisiiiLg
D) . e @ 1928 2b SeT0 e WEUTS GRISHD aupg an‘nﬂwﬂ
- During the national movement, when Aurbindo was arresbed in Alipore eonspn'acy case.
Which of the follo'mng lawyer defended lum‘? : :
(A) Lala Lajpat Rai ' \4%" CR.Das
| (C) Vallabhai Patel - - (D) Saifuddin Kitchelew .

Bpdu Csiu Quisssfen Cung aaS’lug,rr sﬁ a.lpseﬂa) wsg5 Q&u.lu.n_n.n_l_ am&l;s@,srrcﬁlm&rr&
QUITSTigILI mp&s@@n wni? .

(A) ‘a)lra.)lra)&ug gmi : (B CR gn'eiﬁ |
©) ,eud)e)urr@ uGL s o - (D) -.mm,ﬁér-ﬁt.ﬁ@;'

Which of the following act led to the begmmng of the representatlve institution and
leglslatwe devolutions in India?

(&) Actof1858 . l}p)/ Tndian Councils Act, 1861
(© Indian Céuncil’s Act, 1892 (@) Indian Councils_Act; 1909

&p @gﬁlunﬂl_gmmsaﬂw aTps FLID @uﬁ,ﬂﬂwm .aa)muq WHHID s|_|_uSIqugw aﬁsmy IOTHPSS
BHureld gPuBsHLZ? Co

A) 1858—10 Sper(H sLLLb : ®) 1861—1.0 cg,am@ QpHu saqareﬂa) aLb

(©)  1892-b < Qb a;eqsa&la) PART (D) 1909-1b> e DbHw saqasrﬁw L)

21 A HC1GS/16
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45.  Find the greatest number of four dlglts which is divisible by 15 25, 40 and 75.
| (A) 9,000 - (B) 9,400 |

W 9ew - (D) 9,800
15, 25, 40 wippd 75 26 QIGLIL Ssigw LSQQL:@ preng Qs cramanenrs semBIy.
@) 9,000 ' B) 9,400 B |
(© 9,600 o - (D) 9,800

'46. If the mean of four observatlons is 20 and when a oonstant C is added to each observation,
the mean becomes 22. Find the value of C.

uﬁfz' S ® -

6 . . ) . . ) : (D) 4
4 areinsefian syrsf 20 arens. ngem@ arainggiLén C ewid sulqemmed Qem_a;@m aramsaficn syreh-
22 erefle C en mﬁuq LAC o
A 2 o ‘ @B -2

© e | @ 4

47. Ifeach entry in a data is d1v1ded by 10 ﬁnd the change in their anthmetlc mean
(A) multipliedby10 (B) doesnotchange
\}Gf is divided by 10 ‘ (D) is decreased by 10
-Ga;rr@sa;uuu_@mm gaQane ydtefl eflurtisamenyd 10 o mm ﬁwl_s@m u,ﬂu.l verefi
efugrusefien sal (& synaluneng craiQITg wrgID?
@A) 10 2@ QuEBESELUL I MESD - (B) gz wrppldeme
© 10 2 cipssiuiy mieh D) 106 gepssiLCamish

48.  What percent of 3x is 6y if x=4y? )
' @ 20% - , . ®) 30%
© 40% ' | B 50%
x =4y aafle, 3x-ansr,5,5mar &gaﬁleﬂgu) 6y @W0?
A 20% - o ,(B) 30% *
©€) 40% S . (D 50% | .
HC1GS/16 = - 7 ‘ 2_2 o - o &



49. If x +—1- =5 then, find the value of x* +—13— .
x x

W 10 ® 115

L (© 125 | S D) 130

1 o L1 _— .
x+—=5aafs, x3+-x—3e:rm,@uq wrg?

x
@ 1mo - C® 115
© 125 @ 130
50 L If :+§=% d% %:% then, whatithhevalue of x -~ y? (Here x¢0 and y#0)
@ -3 o , ®) -33

‘u;?)’as . | ®) 3

4 6 18" 4 9 |

-4 —=—, GuaIb —+—=—-craﬂsu x- et FOy wrg? (@ x¢0m by=0
Pt szl_xyxy y@wﬂu a(@@ DOl )
@ -3 | - ® -33

© 33 ® 3

51.  Find the number which is 15% less than 120. S
@ 100 : | @10z o >

© 104 - o 8

120 - g el 15% @mmmnﬁr THTHERTE: SIS,
@& 100 - - ® 102
(© 104 ' o ®) 98

« o 23  HC1GS/16
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52,

53.

54.

In a class of 50 students 27 of them are female students others are male students Then
find the percentage of male and female students v

46%, 54% - B) 54%,46%
© 27%,23% D 23%,27%

50 Guir Aaram_ augded, 27 Guir mrranrrcﬂ&err m;n;peurrsar LONGRTEUT&ET erafléh, LomemeuitadT HHID. }
wrracrsﬂserﬁar sgeigbd u.:rrg? ' '

(A)  46%, 54% - (B) 54%,46%

(O 27% 23% ‘_ @) 23%27%

If the mghest common factor of 65 and 117 is expressed in the form of 656m +117n, then find

- the value of m and n.

3,2 ' ® 3,-1

\}"le' ® 2-3 v

65 117 géu aersafien Lﬁung Qurng asm;reuﬂuﬁa:m 65m+117ncrar;p pap@e sr@ﬁama)
mwHpIb n e mﬁuqa;m wreneu?

W 32 S ® -1

© 2-1 . @ 2-3

Find the Least common multiple of (2::2 —8) (3x2_— 9x + 6) and (ze +18x +12)
@)  2Ax+2)(x+1)x -1)(x+3)

L ® 3x-2) (x4 D+ 3)x-1)

W 6lx-2)(x+2)(x+1)(x-1)
@)  6x+2)(x-1)(x-2)(x+3) -

(22 - 8) (357 - 9+ 6) o> (6 + 18 + 12)-@ein s Guing w_rivevss s
@A) . 2x+2){x+1)(x-1)(x+3)

® 3(x-2)(x+1)(x+3)x-1)

© 6(x-2)(x+2)(x+1)(x-1)

D) . 6(x+2)(x—l)(x—2)(x+3) .

HC1GS/16 R



55.

56.

57.

© # | " BT 2x3

Find the missing term in the following proportion 2:3; 2*:

@ 2  o® 2

Y

Epscin_ 85 50586 AGULL ereir — g srawrs. 2:3; 27 :

@ 2 ' S ® 2

© # o @) 2x3

—;- of -3— of —3— of a number is 60. Then find the number

(A) .300 - - L ® 120

© 180 P 860

@ creaenflen 3— Uil -3— uriifle —;-uré:srrang 60 craficr 2155 creiTan G 5eisr®|.9hq.:

@ o0 ® 120
© 180 @ 360

' The difference between simple interest and compound interest for two years on a sum of

" money lent at 4% is Rs. 4.80. Find the sum.

() Rs.120 | o bw)/*\ 3,000

(© Rs.3010 (@ Re.Te8

| gm Aprasse 4% aily Spib Qret® GRS AnLseh ML wlnich sal wlnsEd
 e_drer efigSuwinsb . 4.80 wrafld SiFApT@EMLIE STERTE. o '
@ 120 T ® 300

- (© 3010 D) . 768

25 - - HC1GS/16.
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@
58. A rectangular piece of paper has length 147 ¢cm and breadth l—o,cm A c&linder is formed by
. o . z Co

, one rolling of the paper along its leﬁgth. Then volume of the cylinder is
(A) 980cc ‘ : ~ (B) 1960cc

© 1400cc A 490 cc

O Qediais e grraﬂs%r femb 147 Qs.5, Siawid }2 Qg5 prrenrarg; porgden m@@u 9@ @pai;n' |
&@LLuu@mgm LD R 2-[HenaT 2 HAUNESILILLTED Siéie Benanier sen e;srraq wing?

(A) 930 5.Q5.8 ' . B) 1960 5.Q5.18 T . .
© 1400 5.Qs5.8 - (D) 4908Qs8

59. 50 circular plates each of radius 7 cm and thickness % cm are placed one above another to
form a solid right circular cylinder. What is the total surface area of the cy]mder so formed?

(A) 1230cm? : (B) 1332cm?
\p( 1408 cm? | D)y 1560 cm® | T

7 Qsi8 syrapid, % Qa8 sanapd G&rrdirL 30 awl L ange gL RaEer gerpen Cod Genprs SHESILLE
}0 S Cpirau L 2 mener 2 meundluararg). @is 2 mevander Aurgs ypUFILGTe wng)?

(A)  1230Qss? | ® 1332 Qb2

© - 1408Gs8> D) 1560Qs8?

60. A dram cover is made from a square metal plate of side 40 ¢cm havmg 70 circular holes of
diameter 1 em each drilled in it. Find the area of the cover.

(&) 1380 cm? o \,GB{ 1545 cm?

(© 1655cm® . (D) 1820 cm?

40 Q&8 usa;@omm M 55y g@mn&g ,5t_|q.so 1 Qs.8 eﬁh_l_(g:arm 70 aulL § giewenser QLOUC @
G ST Pl QEOLOUGADS cTafid aimg apiuler ugrieus SreT

(A) 1380 Geis? | ®) 1545 Qaif? -
(C) 1655 Qais? , | (D) 1820 Qs

HC1GS/ 6 26 S «



61.

62.

63.

. 4+8=144 wppd> 6*9 =225 aafldr 7+10 - Qe Ay wng?

A car is trayelling at tﬁe av‘e.rage speed of 50 Km/hr Fmd the distance covered m
12 minﬁtes. ' S R -
® G5Km . ® 8Km
&~ 10Km - @) 12Km
. ,

U Loélgpmfbg (&nir) synsfuns @ walée 50 8.8 Cassdo uuahsdamg. ig 12 Pl ks

SLEGD FIrHmps san Bl ‘
@ 548 o . ® 84S
© 11088 - © 12848

" If 4#8=144 and 6+9 =225, then what is the value of 7+10?

@) 256 @ 289

(©) 170 , a D) 17

@) 256 S @B 289
© 170 | @ 17
4,.2 1 o
Simplify in lowest form: 3#—:-}- o ‘
' x+x+1 .

A 2L+x+l o Mx”-—bﬁl
C x*-2x+1 S D) x% - 2x~1
2+ x?+1

. e xeat4l
&(MES Dol wa‘@gs T ol
. : . L )
@A) x+x+l ' ®) x-x+1
© x2-2x+1 | | O x2-2x-1
27 o _ HC1GS/16

[Turn over



64.

'Find the value of 1+ 1‘1 .
1+ 1
-1+ =
. ° 9 . N : N
A 10/9 @B 2919
| | - 29
© o og
1+ T Bér wfumus srem,
1+ 1 - :
1+= . ‘ :
9 - - |
(&) 10/9 - W& 2919
S 29
.(C)_ 19/9 _ o ®) 10

How many numbers from 1 to 100 are there each of which is not only exactly divisible by
4butalsohas4asad1g1t S ' : v

© 21 R

@ 10

1 Swps 100 - cueny edrar creimsafids, 4 - qbe» UGLHED WL PLoRMS 4 - @ Gessrsab
Qana_ cramrseT THSMT? . ,

@ 7 | @) 14

©c 2 i D) 10

IfTRIANGLE is coded as-SQHZMFKD, which word would be coded as DWZLOKD?
(o) DISMISS - (B) DISJOIN
(O ADJOINT . - \ﬂ»/EXAMPLE

TRIANGLE aanp aumiges SQHZMFKD eran @gﬁla&uuq.ar aps Gurrrrgmg DWZLOKD orem
GPEsUU@D

(A) DISMISS : o (B) DISJOIN

(C) ADJOINT . (D) EXAMPLE -

HClGSlls L " 28 | | " €«



67. The Prime Minister launched Ola e-rickshaws as part of the ‘Stand — up India’ hﬁﬁaﬁve in
(A) Nasik ‘ ' - (B) Nellore -
(C) Neyveli - | ‘ \'aﬁf Noida

- e @pHun”  erenp @1_1_5301 &p Qrsw wWESA gar War-msudmy SLLsms
@i geusfami.

@) prés ;. ®) Qpagrt

©)  QpiCassd R ®) GpmiLw

68.  As per the Foreign Direct Intelligence report - 2015 wh1ch is the hlghest ranked country in
the world to attract more investment? .

V& India . | .. "~ ® China
- (C) Brazil | (D) Russia

2015 b Mq.msrrar Gmaﬁpm_@ Gpmq. auﬂaq HICLY agﬂmu&lmuq. aps prd @gaﬁ@mer
FTUUSD wﬁuq &S BrLE sﬁlmgﬂmg?

. (A) @p@u.lrr , - (ﬁ) emmr
(C) QCreé ' ' @)  geyur

69. Where was the National secunty summit, 2016 held?
(A) Washington o _ @ Poland
\}9)’ Kazakhstan ' | (D) Belarus

Caélw urrgsrruq e #8orpr® 2016 eps @Lﬁﬁﬂ) pl..ppg?
(A) surraQML_ar . (B) Gureps
(©) sgsdvgren A D) Queogaw

70. ZIKA virus is associated with
(A) Water fowl , @B) - Pig

A\ Mosquito - (D) Bat

s eauye Apm_ityeriw o 19 Gend ‘
A) frupea ®) uerd
- (C) . Qana ‘ D) Qaarcured

« T 29 HC1GS/16
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7 1. Méntion the two satellites of Indian universities launched by PSLV—C 34 on J u‘he 22, 2016
S SATHYABAMASAT and SWAYAM | |
(B) SRMSAT and ANUSAT
(©) NIUSAT and SRMSAT
(D) ANUSAT and SATHYABAMASAT

goen 22, 2016 G, PSLV C34 @mm qwuuu_s_ @p@mu umswm&&g&msaﬂm 2w Qsupenss
T (a_r,gb'lulSI@a;

(A) SATHYABAMASAT wppi> SWAYAM
(B) SRMSAT wppb ANUSAT

(©)  NIUSAT wigub SRMSAT |

(D) ANUSAT wppid> SATHYABAMASAT

72.  Which country hosts the_ summer Olympic games of 2016?
) (A) India ; ®) China

 (©) Japan . ‘ : \9{ Brazil

2016 Q,Lo Q,m‘r:q.arca;rran_&rra) QaSILmS'Ia; eﬁlmmu.:rrg@ Guanmp%m Bl crg? o
@  @shur . ® few
© glllurre'ur - ‘ - D) QCree

‘ 73. The Author of the book “The Rase and Fall of Nations” is

\y( Ruchir Sharma ' (B) Pope Francis
Fiona Barton . (D) Sunil Khilhani

“The Rise and Fall of Natlons crar;p ussasfer cQl,éﬂ:‘l"lu.lrr
A @e&lrr &irom : . B CGumisa9 lmaré]cm
© S9Curemr LmirL_éir v v - D) ,a'.aﬂé) eﬁé)arrraﬂ
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Identxfy the correctly matched pairs among’ the followmg
(a) Dlpa Karmakar - Gymnast
(b) - Deepika Kumari — Archer

{© Neeraj' chopra = — . Athlete
(d JituRai - = Shooter A
(&)  (a) and () only . ® @md@oy
© ®and@only |\ @By Allof(a) b), @ and @
Yenaumpeauaraipgier sMwrst QuImESILL HeTer Qameramaend é&n’_@&:
@ Bursiorst - SELpulHA Qeiuai |
(b) S9sr @i - cfleemert
" (c) ﬁu& Geligm ~-  gLa&ar Sy
CY @g gmis - gouréds s@Eb Curliguimeri:
@) (@ wpgd ) LD B) () oy (©) 0L Bid .
© O wppd @wiGd @) (a), B, ©) wipd> () B Siemaggid

Find the name of the satellite from the clues given below.

(i) It was launched 5y In'dia in April 20 16

(i) It was India’s 7"‘>Navi.gation satellite

(iii) It made us have our own GPS system thereby ]ouung the el1te group of selected

’ nations ) _ _ _
\,(A{ IRNSS - 1G o ®B) - IRNSS - IF

() IRNSS-1E - .(D) IRNSS - 1D

&(359 Qarr@ssuun_@arm @;b]uq&@ﬂ@ﬁ@pgl Gsummu@srrmgj Quuenyé asam_[ﬁls v

@ @gl gligé 2016 @m @mﬁmnmm gL g

(i) @Oz @pdurdlen Taug s_Ceom QeupassCaram@Ld

() Q& ;_r;mé;@a;énjp 9rgCusoner = GPS  gmidean Qup S, éqga’w - gpeold
Caib@gBHésiL ;ﬁn@a;aﬂsw CuComidu @@Gmn@ Peeru dauFSH '

A) IRNSS-1G ® IRNSS - IF
(C) IRNSS-1E - (@) IRNSS-1D

81 - HC1GS/16
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76.  The country which won the UEFA Euro Football Championship in 2016 is
"~ (A). Germany ' _ _ (B) France
\,(91’ Portugal - ‘ © Italy

UEFA efién 2016 gCrmitu stédupsm i Ui Ll L sog Qeuenp pn@
(A) Qgiwveh | (B) QGgréns
© Gumissed ' (D) @sste

.77’. Find out the first Civilian Pres1den1: elected by Myanmar Parhament in March 2016 from
the followmg options

& Ittin Kyaw
(B) Aung San Suu Kyi
- (C) Myint Swe o '
(D) Henry Van Thio

wriré 2016 Wwempmit pm_n‘@wmmgﬁm Ggup@g@s&uuu_ Wse @mr@mm aa}wrrg &mﬁuﬂ :
it eremLieng SpserL ellen.safldimbg STy,

A  @gerswe

B gusared

©€) Ben @il

D) apenfl aurer HCwr

78.  Identify the correctly matched pair
A) 2016 Abel Prize — Ms. Tabassum Adnan _
(B) 2016 Nelson Mandela Award — Sir Andrew Wiles -
\ ~ 2016 UK Founder’s Award — Mother Teresa
(D) 2016 Pulitzer prize — Ms. Han Kang

shwrsd Qurmpssliic Hérar @GBGBTG)U.IE mn_;ﬂs
A 2016 queo ufls - Bev. SLIGVEULD au.esrar
B) 2016 G.mw&asr waar(:uam Amg - &t q,am_@ Adev
(C)» - 2016 g, Ca. Pyt flms - sienemean leﬂrrr
D) 2016 qaﬂl_&rr ufls - e, gpmesn P
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79.

80.

81.

“Who recewed the Global leadership award from our Prime Minister in Washmgton in

June 2016? .

‘ u«( Jeff Bezos, CEO of Amazon
- (B) Sundar Pichai, CEO of Google-

© any Bansal, CEO of Flipkart
D) Tim Cook, CEO of Apple

g 9en 2016, anafiiafid “e esameilw peaelo Spen eﬂlqgmgs B> lﬂugm wpH Rl @@y@

QLIﬂ);DQJﬂ' wmr?

“(A) QgL Guevmed, SiCwsrafien CEO

®B) s&pstGsms, m@eﬁlé} CEO
©) Génef Lo, SuleCiEmi-ar CEO

D)  qbEsE lefiar CEO

-

' “HD131399 Ab’ and ‘Kelt — 4Ab’ of 2016. What is common among these two?

(A)  Viruses which spread through mosquitoes

\’GB‘)/ Planets orbiting a triple star system
() Vaccines used to cure dengue fever
© . (D) = Spacecrafts launched by NASA in July 2016

2016 @ar ‘HD131399 Ab’ m;bgﬁ: ‘Kelt — 4Ab’. Qeveu @usﬁrqﬁﬁ’@tb Qurgiaurer DD GTHI?

(8) QsrsEsETD LTMIESMG L MAUFPSEHT HGD

B) poew plssdy gohdaar sHflewmd CamaraeT HGw |

(C) QL sniksa® GRILEESS 2SI FHUL| OMBHSET G
@) gOww 2016 @b, NASA aflé gauiulL elerdacis swdser 24D

Where was Def Epr 2016 held?

A) Mumbai -~ .\ @& Goa

, (C) Vizagapattinam , (D) Guwahati

Qe cresero(?urr 2016 crral(g, peoLQupng? _
(A) (g)l.oa)u . ' : B) Csreurr .

(C) dflsmslucgand - (D) OQaeraprsH

33
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82., What is the specxal news of JUNO spacecraft launched by NASA in July 2016"
(A) It measured the magnetic field of Saturn
W It entered into J upite.z;’s orbit
(C) It revealed the existence of water in Jupiter
(D) It orbited the moon of Jupiter

NASA eflanrér gg9amer 2016 - & geuliulL Q'Q(Bm (JUNO) dilawsagHen piys Qa:tu,ﬂ wmg?
A) Qg selGangy srsLLOEMS SiTeSH Qeiigs . A
: (B) O] a&‘lur;patg spgLuregulie @@pﬁp@
©) @s Awunpeiie Bir simwpHminems Qaefil g
D) B bumparg Padmars sph aupbss |

83. - Identify the personahty

() Hehas been appombed as the managmg director of the 2019 ICC Cncket World Cup in
July 2016

(i) Heis the former South Afncan fast Bowler
(i) He will also oversee the ICC Champmn trophy, 2017

‘,(A{ Steve Elworthy

(B) Kyle Abbott
(C) Jonty Rhodes -
(D) Gary Kirsten

BUEOT SiGHLWITETD srra‘ws ‘

) gOee 2016 G, Geui 2019 ICC aﬂiﬂs@&. 2 &5 Gsrrua)umrrat (‘-ima)rraw QuEGprns
Pulssiu Gerermt

(i) Qe apererrdr Apen g 1Rés Casliupg elssmant Spaumir ‘

(i) @air2017, ICC m&bl&]‘mdréﬁu Gamiemuésner Gum_iganw Gmﬂunﬁmmhﬂ@mwﬁ
Q) . eved aroQaumigf

B) asd 0CumL

© gremg Gym_ev

D) Csf AievLer

HC1GS/16 | | 34 o L€



84,

85.

86..

The Union Government's Pradhan Mantn U]]wala Yo;|ana Scheme prowdes women living

below poverty line with

' (A)  Televisions

W LPG connections

(C) Washing machmes
(D) Mixies

wéHw aweﬂm QrgLo mp@rﬂ 2-gReumed Gu.:rr&smrr ﬁr_r_,s,ﬁam_uq. augieo Gsrruq.m@ & aumgd

AuetsEnéd - auprisuLGED.

(A Qsrawssrl S

(B) LPG@eewriy
©) gousgb uiHyd

D e Quipdnb

In the year 2016, where was the first Maritime India Summit held? -
(A) Chennai o () Cochin" |

u,e)/ Mumbai @) PortBlair

20160 su@l_ﬁﬁw TRIG (g)gwm.n &L 6 &rrrr‘rbg @p&u n.&#l wrprH meQummg?

(A) GQseenar (B) Qarss
© @weu 7 - D) CGumi 9Cerit

Who is the first Indian to win the title of “Mr. World” in 20i6?
(A) Rohit Sharma - "

(B) Nicklas Pedersen

(C) Jordan Williams

\;m’, Rohit Khandelwal

2016~gy1b e ‘208 MQ&G‘I” LIL_L.§6D§  Qauem &6 @bHwit wimit?

A).  Corafls agion

| B) faeev QuLiser

(C) . Cgrir_ner eldeflwised

D) . Cyrafls srpzaraund
35
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87: The humans, Chorionic gonadatropins reaches a peak during

®)
©

o

Early stage of pregnancy

Late stage of pregnancy

After parturition

After menstruation

wefigafle Qsriiwrels GarrerL_rrGlyrrL'Jélér 2iere) BiGgHwurs sremriiuBeug

LA
®)
©
®

STUU &Te 4TbL flene -

&ML &b Wige) Heoe

Gbos Ipsed Aunws
gl miié@ Gen |

88. @ Which of the following statements areltrue?

I
1L
L

IV.
A
©

Repﬁleé are classified based onvsku]l vacuties

: Ami)hibians are classified based on jaw suspension
» Aquatic mammals belong to famﬂy Felidae

Petromyzon 1s a jawless ammal

I only \ . ® MandIV

IandII | W Tand IV

&@esaisr; sppEafie sfumenene cTaeu?

L
IL
Il
V.

(A
©)

HC1GS/16

eatiauen oaeL Cuinl g 6t @ ieyseficn St uié aimsLn® Qeduti Gérerat

. @@mn@aﬂ&m Siaupiler grenL Qevertingen i LiuieLuled ma)a;u:r@ Qe Gererar

Birau rr;_,purr@_m_q.sar QUG @@mugscng& 6rrrrm§ma.|

Glur_-(Brma)Lo&rrar @@ sTeoLwhp o uqf
HoiGod  ®) MopgnIV
1 wpmb 11 | | D) IwpgnIV
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°
- 89. Which of the following is a human male accessory reproducﬁve gland? |
- Prostate gland ' | - ® Gastric gland | |
(©  Cowpers gland (D) Inguinalgland
£Epssmn_mmgm Loaﬂ,s sypanflen gmw Bensa u@m &g srg;?
(A) SgravGLl &l;u@ ' B snevgfs &lJ’Lchl]

(©) Gaemiuiev &y _ D) @rEWae a0

A 90. If the Fy, phenotypxc ratio from a genetm cross is 1 : 1 :-1: 1, then the genotype of the

. parentsis _

") AABB x AsBb © (® AsBBxAabb

\/CS/ AaBb x aabb (D) Aabbxasbb

@ wniue a;coumSIar Gurg Fi-& u;p(‘.‘gsrrmg) umnﬁ]ar Afgo 1 :1:1:1 Q,& Pmbsreéd
Gum@gprm&aﬂar e Diamoliy GFreungid : '
(A) AABBxAaBb - (B) AaBBxAabb
(© AaBbxasbb . @) Asbb x aabb

91. An important objective of National Population Pohcy of 2000 was
\}ﬁ( To achieve a stable population by 2046 . ' '
(B) Reduction of birth rate
(C) Improving the quality of pop ulation
§))) Reduction of death rate '

2000-gyb Syeirgem, CeAw wéseT Agrens Gslrma)suﬁlm pésfu @gﬂa;csfrm
(A) 2046 b YT HEET ;Elanwu.mm LDESET Qgtra)assou.s SidLUG

®)  9piu disses Gpiug |

©  thésdr ApresiSen rEms 2 LTGEAS

@) @puy eSgses GOPOLS

« I Y A , HC1GS/16
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@
92." Of the foHoWing schemes which scheme was started by the Government of India for the
benefit of urban slum dwellers"
W Integrated Housing and Slum Development Programme
(B) Indira Awas Yojana -
(C) Jawaharlal Nehru National Urban Renewal Mission
D) Swarnajayantm Rozgar Yoj ana_ '

&@Mml_ Ql_l..msaﬂm abs gu_m B&iiILD @q.m& surrg; WESET uu.larGumno QurmL.@ RbHw
DITETD HPIDGESILLL 5 ?

(A  gonudeanhs aﬂ.@ ausdl wHgbd @tq.aoa ma'nmﬂg ,ﬂu_m
(B) @pﬂqrr Sleumén Gu.urgamr ‘

© gaanirerd Crm Csélw pslruq;n qanysnmuq,s ﬁl_l_m
D) mmﬁmﬁgu.lmﬁ Cyrgpai Guirgenr

: 93. Public — Private partnership is emerging as the preferred 1nstrument for the development :
Infrastructure - (B) Agriculture
(O Industnes : (D) Trade

Qurg gieon - gaflwmi Qmmg&lc’n sl (L Ui, Qs auaitéd) e_w Amwuliu@fepg
A) sliewiy _ ' B) Cauemairenio

© Gdsmfcoaer ' )} Gul'r,’sgstb

94. The mostly aoeepted measure for finding out the level of employment is

wr Usual Status

(B) Current Daily Status
(©) Current Weekly Status
D) Current Monthly Status

Cawe amity Pooowu ofis Qstier  aps  Spssan paop Quiigp
TppsQarareriuGdenpg? : .

(A apssioren b

B) ° Pspare sempr spn

©) fPaspsre aurg gmbd

(D) ;ﬁleg}mn@ OFS oD

" HC1GS/16 ‘ s | e



- 95.

96.

" 97.

~ Which of the followmg is a land reform measure. adopted in India?
\JA( Abohtlon of Zamindari system

(B) Abolition of Mahalwari system
(C)  Abolition of Ryotwari system
(D) Abolition of Land records

L‘ﬂarm@mawm;pym a8l @pHuncile Gmgp@aummuuu_ Poséidmss pgmq.mss@m QEPIGWH?
A) gbengrf Genp @iy

B) Logmmeumﬁ wpap @ity

©).  Qrwuparl gpep ity -
D) Po guamse @iy |

Who is the chalrman of the Indian Planmng Commlssmn"

A) President UD)/ Prime Minister
©) Fmance Minister , : (D) Defence Minister
Bidus HLLscpellen peraauit wmi? .
(A Gyrurss ool N (B) tﬁlqgw wpHf
©) Poszep wpHfl | _ (D) unGISTULSSI®D m:bsﬂlﬂ

Which one of the following is not a Tenancy Reform?
(A)  Regulation of Rent
(B) Security of Tenure

b@’ Abolition of Intermediaries
" (D)  Conferment of ownership rights to Tenants

Shpmmn_mmgm 3l @Mlﬂ)’ﬂ' §rdmissHd gauoms @wa)o:?
Q) anr_asmw &ir Osu.:gw
® gggma; ungasriyy
©) @eblLnearismer @fiGs60
D) @WW@“@ P 2 feow auipriimed .
39 | HC1GS/16
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98.  Friction closely associated with vehicles running on the road is
w Rolhng frictipn 3B) Sliding friction
(C) | Slipping friction oo B ))) Static friction
sneauilé Q(DLD mu&ms@u..ar Gp@mﬁu Qgmuiyent w2 griiay
A)  emepd e gmiey : - (B pyeyaymiey
©) ayss '9_'|7rru'.|e.|‘ | N D) feoe mmrif.m

- 99. When two forces P and Q act in the same straight line with 7N and 38N each in the same
direction, then the resultant of the forces is

@A 21N | B) BN
© 4N - . \$rwn
Puppip Qe @@.eﬁlmssdr‘ @Cr CriGamiged 7N wppd 3N Qsmem u@seer gCr
Sanslie Qrdrgufipg. Cuogib Hcuclm dianssafian Asr@Liidr diimsufian iU saps
(A) 21N ‘ _ ®B) 5N
" © 4N - S @® 1N

100. The point at which the entire weight of the object acts is called as

Wtf Centre of gravity (B) Centre of mass
©) Centre of floatation (D) None of these

Vs

) Gun@aﬂaﬂ Gunrss Gra)t..tqm Qrudu@b yeref
(A)  miiy ewwb - (B) flep ewwid

C) Vg aowd o D) Qo ggldeme

101. In atmosphere the altltude of 11 Km to 50 Km from earth surface is called '

(A) Mesosphere - W Stratosphere
(C) Thermosphere : _ D) Exosphere
QUL L GH®, qeﬁ] Gw,rpuguﬂa) Qmpg 11 &.8. @gm 50 £..5. Gua)u e arer LUgdlenws craJamg
Ghésombd
(A 18Gsm LDGHTL QLD B) a‘u;(‘am'_cu LOGRTL_ LD
© Oeuuu LoD “ 1 . (D) Qeuefl wen_eid
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© 102. Find out the incorrect matches

I N,O —no lone pair — sp hybridisation — Linear
II. SO, —1lone pair — sp® hybridisation — V-shape
0L I; - 2 lone pairs — sp? hybridisation'— Linear

Iv. _I'~— 3lone pazrs- sp hybndlsatlon Linear

(4) TandI | ®) MandIN M MMandlV (O IandI

gau g)n'an Bamrsmens sneTs

‘, I. N0 gaﬂ esL e Cmg Qerenew — sp @mmcoul_; e auigeud
I. SO, — 1 gefl ceétgren Cgmy. — sp* Qerdaaiiy - V-eigaud
©IIL I; ~ 2 gafl creéL_ymen Gy ST~ sp? Qanssaiiy - Bem_augeulb |
IV. I -3 gafl revalgmen G&ﬂ’lq.&ﬁf sp® @enéseli - ﬁsmumlq.suw

(A  Twpgw II (B_) Houppw I - (C) MlwpgopIV D) Twppid III .

103. . Which of the followmg is/are correct?
I.  Inacetic ac1d as solvent, the strength of acids vary as’ HCIO4 > sto‘ >HCl

II. pH of 0. 0001 m sodium hyd.ro:nde is 12
ML Ionic product of water (Kw) is 1.0x107™* at 25°C

(A) Ionly : - ® 1 and I
(C) IlandIl : . ' vm’ I and III

&pm;m;mﬂm sflwurarenay crg/crmm?

- L aaﬁl_lq_s 2idlevs mlyuurraﬂa) auﬂa)rmmﬂar sflwren arlleno aufiens HCIO, > H SO >HCl
II. O 0001 m Gsmgwib aogmumsm&@ sevyaedien pH w12 %m |
IIL. 25°C @ lﬁﬁlarr Sjwe Gqussg;ﬁm (Kw) oy 1.0x 107 /

@A) I oG | | ®) IwpgnIl-
(© HMuopgop Il - D) Iwpgo I

e - a | HCiGS/16
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. .
"104. Find out incorrect statement(s)

I Nitrous oxide is obtained by heating a mixture of sodium nitrate and ammonium
sulphate -

II.  Nitrous acid acts as both oxidising and reducing agent
III.  Aluminium containers can be used for storing Conc. HNO,

IvV. Hydrazom acid does not have azide ion _ —
(A Ilonly B) Iand II W v only B D) HlandIV

sauprer AsnHQ g)rn__rr(osa)err)a; STERNS : :
L Gemgqwid enpl Gyl wHmib a{mcmmﬂmm #0CulenL Qmuu;ﬂa)wuﬂla) @@u@gﬁamu
@B Yswaw® S s8pg)
. eplye sufleb gy éadgCanpd Lo;ngm g sfwnsan Gsmwu@ﬁmg .
III. st eplfis slasmg Cadssy amauss Sigfeflu swdsdr uwadpg
V. wapt gsmis an.ﬂmgﬂm Sins® weah G

@ Mwipd B Lopgoll © WNopd 0 IwopgsdIV

105. Match the following : -
Collagen

(a) Transport protein 1.

(b) Storage' protein 2.  Antibodies

(©) Structural protein . 3. Ferritin

(d) Probectivq protein 4. Hemoglobin -
\%/a) ® © @

4 3 1 2

B 3 4 2 1

© 1 2 3 4

D) 2 1 4 3

sflwrs Qurmssis ;

(8) @ uGuuitey ygsib 1. Qsreger S
() Gsbliy ygso . 2.  efiaffefsdr .
(©) - Sy ypzd 3.  Quifiger

d spsrégn ngtb _ 4. gﬁGmlr@GmmSIat

| (a) (b) (© (@)

@A 4 -3 1 2

® 3 4 2 1

© 1 2 3 .4

‘2 1 4 3
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106.

107.

108.

109.

110.

Bacteriophage is

(A) Gram positive bacterium - ® Gram negative bacterium .
(C) Soil bacterium . W‘Virus ‘ '
ungeAGLTurg eretLg) o , | | .

Ay  &gmd urfliger unwefluo - (B)  &gmb Apag ey urdefuid |

(©) ovaruréefun : D) eaugen

The total number of chromosomes in a human cell is

wn":;e ®) 40

30 : D) 66
wefigafien gm Gsddlan BOwagw Gmrr,sg @Gan@mrr(%arrmasaﬂar aTameniigens
A 46 | C® 40
© 30 : o (D) 66
The sugarcane plant is propagated by _ _
(A) - Grafting , \B)/Cuttings
(C) Seed ' (D) Layering
S(LbY Grmmlrg @aruGqu&sm G&mmuu@aﬁmmg
@  §LEUGUTEES ®) genpsdr
© dop | - ® UBLEGLTRED
Net gain of ATP molecule through the fermentation of a single glucose molecule is
@ 1 - - v 2 -
© 3 : - @ 4
0 GErEGamey aro&smm euPuns Qpnﬁm @o.)u: ﬂcnus@m Gt.orr,s,s jﬂsu om ATP s
‘ ahgla;aﬂar crameniisons 7 7
@ 1 ®) 2
© 3 , ® 4 |
From'the followmg micro organisms, identify the micro orgamsm associated with Azolla for
nitrogen fixation . _
(A) Frankia ' - B) R]nzoblum
WAnabaena o (D) Azospirillum
Epsaim @W@uﬂ:ﬂsaﬂm aps glcwr@uﬁhﬁ 2Cemaor grrsur,r,sgl_au @mmr;bgj mpl_u&maﬂ_
Baetu@sgdleamg?
(A) Slgrifwr E v : B) eayCGsmAwbd
©)  semenn - D) Csravenufidab

43 o ‘ L HC1GS/16..
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111, Consider the following statements. '
- Statement—-1: The business- to-business kind of e- commerce refers to a company se]lmg or
- buying from other companies. '

~ Statement-2: With the busmess-to-cusbomer type of e-commerce, the company first
establishes a web site on the Internet.

(A) Statement~-1 is true and Statement~2 is false
\ﬂ{" Both thé Statements are true

© Statemept—-l is false and Stabement—2 is true

(D)  Both the Statements are false

Genaumbd smpPlener smSSe Q&ners.

apn—-1 : @n fpcuasdpEn @m@am@ gﬂgmmwm@m Qe per_Qupd uIGSH
: - seeg pped Curanp W aalagams 9eard—G-19 a6y erem auansLL{BSsMD.

SMmpp—2 tﬁlélamu—@—sam_u:rr amstorer Wereuafiahn qu_leug;n@ @mmwgﬁm Y]
: | uemaggemd o_@mrrs;suug Ceuam(Bib.

@ ang sl ppid spp—2 e
®)  enpp-1ppi> mpp-2 GSu GrenGGo s
- (O spp-1 geum wHgd &xﬁ)g;2 &h
O mpp-1 oigd spp-2 edu GrerGCs sag

112. Add the binary numbers 1011 and 101

(A) 10001 A . ® 1111
Vel 10000 | ®) 10010 -
oua areimsar 1011 oppid 101 st Gs

(4) 10001 R (B) . 11111
(O 10000 o © - (D) 10010

113. India’s first supér computeris - ,
(A) Agni : : (B) Flow solver

Param . o - D) Tnsul
@5£mrreﬁlér WPsD @l:.lu'fl'_.ElbgLLJ.l’ A ,
(A) Agni | o E " (B) Flow solver
(C) Param o ) (D) Trisul

HC1GS/6. 4 | «



- 115.

(a)

(b)

©
@

L 4

ListI
Muppandal
Satara '
Jogimati
Mandvi

"hr—-to»-'@

Lol o A .

(d

MNH.B

V114. - Match the wind energy plants in List — I with their state in List —II :

List IT
Gujarat
Karna_.taka
Tamil Nadu
Maharashtra

. uliquéd - I & odrer smppree Wer 2 HrsH Peewtisamer uligwed — II & e drer wrblekisen e
T Qunmsgs : : ’ |

(@
()
(©
@

Y
®
©
@)

uligwed I
(G
sggmyw
Cagrdiod

wreRT_el

B = DO

oW

@

o DN =

ugwe 11
GRS
STHIL&LD
s 5706
OETITEgIRID

Identify the incorrect statement from the-followiﬁg : .
The alluvial soils occur mainly in the Ganga-Brahmaputra plains of India
The tropical chernozems are otherwise called as black soils in India
W Laterites form a major proportlon of soils in India

Desert soil is found in northwestem part of Indla

A)
®)

D)

&Gy err@uuun..@armmmasaﬂo) Seu ;pn’ar mn&aﬂu.lga); SIPLITETLD SNEHTE

@
®)

©

M)

BiHureiié eueirLc e, Shins — Qywusdem swlaafufie sifsd srrewruu@aﬂmg

Siwer e o QsiCearmaib arén weir aehas GpHwireilsr sfled wair aranpenpsslILGAS

@pHurelen weir cumasafid srame e awms g Urgrer sgeigsang audlaflanng

Lree war Giduraler aiCopE LEHIo stariLGEDs
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116. ~The community known as the people of the ‘Fourth world’ is
"(A) Backward community
(B) Forward cbmmunity
' \JP  Scheduled tribes
(D)  Scheduled caste -

‘prensraig) e wdar’ s orar DDPEFILHLD m@u'l.‘llani‘
' @A)  ApuEspLLCL m@f.ul.‘ﬂﬁrﬁ
®) ewiagibarnt

©€) veoamp WwésaT

_' D) P HyreAliser

117. The world’s largest riverine island situafed in river Brahﬁlaputra is
(& Varanasi . (B) TeangPo
\_‘C{ Majauli _ (D) Manas
QmbwyGer tQg,;m&sv Sienwpglerar mﬁm Bl A q,mgﬁ Sy
(A) mrrr,raurmﬂ ] (B)_ ~ &mw Gur
© - m&sqeﬁl S D) Lorramai\)

118. The person who has proposed the concept of black holes in the sun is
(A Sir Wllham Herschel

D) Harris Lippershey

Gfwuafie mpgwmsm renp aMbHenen Gmaﬂuﬁl_l_mtr
A) . & ftodlwnd ngrerGo

B) pDLITL garanml._ar

O Pulren 7

D) Qanfev SouiQay
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119. The World Trade Organisation (WTO) is the successor to which 6n‘e of the vfolloﬁving

120.

institutional a_rrgngement?
A - Wor!d Trade Community
(B) International Trade and Development Assocmtmn

\M General Agreement on Trade and Tariffs

(D) Assomatmn for Economic and Social Reconstruction

2.8 QITES SielILreng) £g;55mn_ abs ,ﬂgmm,s@an amfers smsUUGOps?
A owsaigss sepsmud

B | uetemL() eui$ss HHID cueTTFs Fhisd

(C) smgluupsid B

(D)  Qurmemgmy LHYD saPs WHSF@LLILE FRISD

Person who is outside the oountry of his (or) her Nationality and has a well-founded fear of

persecution and has a legitimate claim and need for protection is a

(A Migrant : ~ (B) Militant

\,@f Refugee ' . (D) Spy

121.

wreuen/creudt gargl priih@ QaueiCo Qmbs Asren® geypssuLGCaund e gﬁ.lvbum'_qén,‘
urgsmGenan sty Qup LHNID FHEsTan Comaiudamen QUPHMILTCHT Sicudn/Biaudt @@m
Q) @uBQuuiuet. - (@B) seimenL. Qg C1veu

©€) osd ‘ (D) o ereunafl

_ Which of the following does pot explain the ﬁl_arginalised groups?

(A)  They are most vulnerable and often very poor
(B) . They oonstitufe diverse groups
(C) Unorganised workers

\JBf Te_mple priestg

&@é&aﬁmmﬁmﬂa"; gai ggsasuul L Gfiddparer sfiwret cdlaés ide
(A) Paisdr Baayb Cspivamps AUGLUNGID FP@LWLITQTCTSET

B) QaisdruaCamp IR elenisams @oiueisdar

© PQRGUOSSILILTS Caumawm_ser

@) Csmdo sisssiasr

a0 ~ HC1GSA6
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©122. The object of the vote of no-ooﬁﬁdenoé motion is

(A) To seek rédreséal'of complaints |

v@( To demonstraﬁé displgasure and distrust over the government
© -To ask the ministers to give e:iplanation of the work not done
(D) To a&journ the legislature | | '

pismsidan SiorasHear @;ﬁ]é;(?r&tr&

() @opsmar Siuums TR |

B) ) DirETEsD Bsren SHGUS LHOHD mbt&lmuﬁlém)mmwm'@mul‘ngoug

©) wvpHisafiib uesf ;ﬂmm@mﬁmnmeﬁ@ﬂugbé&nm sﬁa.Tésa;ga)as seflsgwry Calug

D)  slLsenuew () ésaTaaImL GEHMUSES

123, Under which Article, the deadlock may be resolved by a Joint gession of the two houses of
Parliament if there is a disagreement betWeen two houses of 'parliament regarding the

- passage of a Bill . , ,
o~ 108 | : ® 107
© 111 o @) 121

aps au&]u.la)a)muq cﬁlﬂuﬁlm &, 8O, mG&r@mmm ]ﬂa)mcmmgmg Ggrn_rrurra; um;rrr@marmgﬁm
m. a{a)ms@a;@ﬂmLGu ghudd rhEsta urrurr@mmmﬁﬁm @@ Siweusaficn sl (B
sL.LHen apeotd S5y eveussiu@b?

) 108 ®) 107

© 111 . ®) 121

124. The Prime Mlmster Indira Gandhi unposed internal emergency in

\)o/ June 1975 . B) July 1974

(C)  September 1975 " (D) October 1975

Qg @pSrranpd o dpr( Apmess. How Grs._anbd Qsiis e ’
A)  sgoan 1975 L ®) grew1974
(©) QsuLbiui 1975 : D) <&CLrui 1975

'HC1GS/16 o S - - €



125. Under which constitutional amendment was the National Capital Territory Act enacted?
3 {A) 67» amendment -

(B) 68 amendment

u@f 69‘h amendment

D) 70‘h amendment

aps Sirflueeniy Hwmsssder £, Géﬂu.n FOVBEIT ,ﬂué,s&‘&u’.ub Qupprin Lg?

A) ’GWaqﬁQOmaqggwm o |

® 68" spfuemniusdussd - o
© 69" smfusemoius Arss CH

D) 70™ spfuemoins Hessh

126. Which of the followmg states in Ind1a has a separate constltutlon of its own?
" (A) AndhraPradesh (B) Punjab
©) Tamiinadu ' wf Jammu and Kashmir

&g;a;sasn_ @mﬁu.l mnjﬂmmsaﬂa} m&Qm gl sirfluaenimu QsranBatans) g7

(A) %ﬂiﬁﬂ IQUGMLD ' - (B) uggsml
‘ V(C‘) ﬁlﬂ@.’b"@ , o D) g wHpb sregdi

127. InIndia, who formed the first coalition government?

(A) Deva Gowda vv (B) V.P Smgh

UQ/B/Iorerji Desai | (D) Charan Singh

@sHurelle e am_t_auﬂ q,uﬂmtu ammggmrr qur?
(A Cseusan | . ® .. an
(C) Qumyrigd GWu’.: 3 D) syaw St |

€ I | 49 . ~ HC1GSNé
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128. The theory of separation of power was 1mt1ated by

(A) Madison (B) Blackstone .
(C) Locke : \_CB( Montesqmeu
, ,'aﬁsmj “ifleSlenar Gam_uim e &@mmse‘.]um.lrr o

(A)  omgaver . B) dersaGLmer

©) ari , D) wre@ueivdy,

129. Who uttered the following statement on Quit India Movement"’

“The presence of British in India is an 1nv1tat10n to Japan to invade Indxa. Their w1thdrawal
removes that bait”. :

(A) C. Rajagopalachari (B) Muhammed Ali Jinnah
\y/ Mahatma Gandhi (D) Sardar Patel
QeustenarwGen AauafiGuy Quésd GHiss @dreu@jtb ursEgmg sadlweui wmir?
“@pdureilé o rfCawirser @@uug gUiuTenes @pﬁmn’ 55 uen QPSS e SienpiLg)
GurenmENT@LD. Bieuir&eT aurLE) Qu,rpgw Qednpred R - a:mguq Caemanupmy Cun@t”.
A) & grsCsrunerssnf » (B) WPEWLG aa&l Denamr
©) - W&mgLon ETHE - . (D) Figmi un_(Bl_a)

130.. The areas where prov131ons of the Indian consntutlon sixth schedule are applicable are

known as - '
(A)  Plain Areas e (B) Coastal Areas
\ Tribal Aress . (D) Desert Areas
. @pHuw <Sirfueewriar Q{,!DITQ.IQI ul_tq,u.:c&gumar efifisar Sgsam_ Grpsgsu u@,ﬂs@ Ourr@'uags
Snlg Wig)?
4) sofiel U@@as@ _ B s psar uedés

O uvprgylen uedés ' D) ureeaat uGHES

131. In which one of the following dates, was the Supreme Court of India inaugurated?

(A) 26 March 1950 . (B) 26t February 1950

(C)  26% January 1951 \Jr~ 28 January 1950
Gleneu(mid eTHS .lbrraﬂa) Qbdu 2 55 5H WeTpLD Qg mm&a;uuu_l_g?
(A) . 26-b prar, writg, 1950 ' - (B) 26-1bprar, GOgeu, 1950 -
(©C)  26-b prer, ganauf, 1951 : (D) 28— prar, geneufl, 1950

HC1GS/16 - 50 e



132.

133

‘Consider the following statements in_ reference to the constitution (73 Amendment Act).

‘1. " The governor of a state constitutes a finance commission every fifth year to review
" the financial position of the Panchayats under Art 243 — 1 of the Constitution of
India. ) - : : S '

2. The supérintendence, direction a:md control of all elecﬁons to the panchayai:s are
vested in a State Election Commission under Art 243-k of the Constitution of India.
Which of the statement giVén above is/are correc’t‘f | ' |

(4 lonly - ® 2oy

UBf Both 1 and 2 : : (D) Nelther 1 nor 2

Epsacim_ awaﬂua)mmuq Ggrn_n'urrm SppiEener &SIl G&lmm (73-eug Sipflweeniiy @@55.

sl_l..u)) o

1. SuHw auﬂmmmwuq ofifl 243-1 em ug mw;ﬂm EBET geldant RHSTRTIGRID,
ugserwgSer Hf Hleoaulener gy Q{,u_lm Qaliws 9@ £ peamusms gduUBSSEDT.

2. @;ﬁﬁu.l Sirflueenoiy el 243~k én Uiy ugremuss Coiseme samsrrauﬂggsa) m;ﬁla;rn_(g)ge)
LHOILD 5L.®UU®§§Q) Gurepaupenp wrle Caigd cg,mmru.um gmm&;@g OAUFEITATS).
Epsam_aipie erg 5?7

A) 1wl @b o . ®) 20,60

© loppb2 . ®)  1-b Goam 2-b Gdme

Find the Incorrect Sangam age Tamil poetess

I KakkaiPaatiniyar |

1L Ookur Masathiyar
II. Mudaththama Kanniyar
IV. Panar | _

A LILII ' ~~  (B) Ilonly

© Ionly - LPr IV only
. a&‘ua; sne QueTumh qaja_.rira;éﬂa‘: FaUPaE Qstt@é&ﬁuﬁi_g

L 5na’;a>$urrq,aﬂu.|rrr°r | ‘

Il  gésmiwrangSum

III. @)L@umé; serTeRiimit

IV. e _

@ Lom @) . I ui @b

© Mwep - O Nweceod |

51 . . - HC1GS/16
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134. Cons1der the following :
' Assertlon (A):  The Revolt of 1857 was a faxlure

Reason (R) : The educated Indlans did not support the revolt, was one among the
cause.

u&f Both (A) and (R) are true, () is the correct explanatlon of ()

B) (A)is true, (R) is false
(O (A)is false, (R) is true

(D) Both (A)and (R) are true, (R) is not the correct explanatlon of (A)

Efpssam_ aursdluisenens seuefl :

sampp(A): | 1857-1 eumé Auumi seasb Carde a:ml..;bw

amed(R): . sdel spp @pﬁun&m swssfDE Tl Safssdioma crewugm 9@
. SMFERTLOTGD. :

@A @ whpd (R) &, (A)-sn e_aimenwowiren eflarasid (R) 2u@ib
B AR sap

© A sap, R)s ‘ _

D) (A wpgid (R) &M, (A)-en 2 amanowren ellarésid (R) e -

135." Match the following and choose the correct answer from the codes given below :

(a) B.G. Tilak . - . 1. Swaraj Party o
" () Raja Ram Mohan Roy 2.  Indian Home Rule League
(© C.R.Doss 3.  Servants of India Society
(d) G.K. Ghokhale 4. BrahmoSamaj

@@ (O (© (d)

A 1 2 3 4
® 2 1 3 4 ,
ver 2 4 1 3
@) 3 1 4 2

@ﬁé@mm@ﬁmp shiwrs QurmpsH @ﬁluﬁ@&deﬂ@‘ﬁg sflwren eflen_enw Gairay Qsiis
(a)  une sRsTEy Host - L swrrRlu sC A

(b) grggmymb Gorser gmis 2. @pdw Gapmb e Quisstd
(© H.yi grev 3. Qpfu Ceeusiser sbianD
(d): Gsmure Simegerr Gsrrascw ’ 4 Gybio somggd

(a (b) © CY

@A 1 2 3 4
®B) 2 1 3 4
© 2 4 1 3
o 3 1 4 2

HCIGSN6 sz e



136. Match the following Buddhist councils w1th theu' places and choose the oorrect answer from

the codes glven below :
- (a) - First Buddhist Council
() Second Buddhist Council
@ Third Buddhist Council
(d) f‘ourth Buddhist Council
@ ® © @
@ 1 »72",3 4
® 3 4 2 1
wer ¢« 3 2 1
| (D)" 4 3 1 2

. Kundavana

. Pata]iputrd

Vaisali

Rajagriha

-5(359 Qar@ésuul ater QUaTES WIBTHSMET JiPEUSHT peoLGupp PLisEsLan QUITGHES.

. sfiwren sfleLenws @;ﬂuﬁ@&eﬁeﬂ@,ﬁg Caira) Qs :

| ()

(b)

©

@

@

®)
©

®)

o Quarss LIBTE
@rein_eugs At BT
cpinpresgs o
prénsnaig Quasg WIBTG
@ & © @
1 2 3 4
3 4 2 1
'4 3 2 1
4 3 1 2‘

1.

r

o

GERTL_CUENLD

um_elygHyd
aausnel

mrgeﬂ@&b

53
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137. Consider the statement and reason choose the correct ahswer from the codes given below :

Statement (A): The first Tamil encyclopaedia was published and released by the

education minister Avinasilingam.

Reason (R): The first Tamil encyclopaedia was compiled and prepgred By
- M.P. Periyaswamy, popularly known as “Thuran”. |

(A) Both(A) and (R) are correct, (R) is not the correct explahation' of (A)
WG/ Both (A) and ('R)vare correct, (R) is the correct explanation of (A)
© (A)is wrong (R) is true

D) (A)is true (R) is wrong

QarR&sCIuCPerer UNFSESMSLD, SMFagasUb smsHd Qsran® sfwnen clenrenw &Ggg.'
QarPéstiul Gearer BHIGsASmpg Core) Aalig erpgs :

aunssw (A) : e s ses sargHlugms HFHCH Qaueflblil L sdd s@wasi
| SAprASEsd.
smyemd (R) : o Wwsd P s sargsflugens QsnEss. swunfigs _Qmaﬂuﬂlu..mr’r

arib.9. Quitwems, “grren” aran GyLIELNS SiepasiLPaur.
@ @ wipis ® GrenGid . ), (&) Apsrer sfunar ersaie
® (A wpgo ® Grenid oA (), (&) chpsnen sfuren eslerém
(O ) sup ®) s
ROREY mﬂ(R);a@

HC1GS/6 . s | 3



138,.

139.

Identlfy Buddhist mon.ks ﬁ'om the given list and choose the correct answer from the codes
given below. - :
1.  Abi Nandanar
2..  Kundu Nadar
3. Nada Kuttanar
4.  Munisuvartar '
(A) land2omly (B) 1 and 3 only
(©) 2and4only o o\ 3only
Qar@éstu_Herer I.IL.Iq.UJOS]OS]@‘r_Bg] Quar,sg ﬂs@mm SieLILITETD m@ @;ﬂuﬁ@mﬂaﬂ@pg
sflwrer eflent_enws (BgrrmGg@
L =pps
2. ©bsipTET
3. s @ssemit *
4, waflaeungsit
A) 1wpmb 2w Gd B) 1 wppt 3 LD
(C) 2wppo 4w @b ' . D) 23 uwl@Eb
Consider the followmg statements Select the correct statements from the codes given
‘below.
"L Sahitya Akademi Awards are glven by the government of India for good literary
. contnbutors in various languages.
- IL Padma Awards are amongst the highest Clv111an Awards in India.
III. Dada Saheb Phalke Award is awarded by the government of India for persons in ﬁlm '
. mdustry
- IV. Kalaimamani Award is given by the government of India to the Artists in different

fields.

) Tonky . ® IVonly

UQ)’

I, II and 11 ' : O I and III

'_&gsmm wrrs&lu.lmmar a;@g@a) Qanem@®, &G an@s&uu;@mﬁr ng@uﬂaﬂ@pg sfRlwmen
anrsfugems Osfie Asiis.

L

IL
II1.

A)

- ©

srHur s aﬁ\@g Glmrr@uﬂmoﬁm ;bm g,nma) cr@gjusurrs@es@ @pﬂu.:
QTETRIESSTD upristLBEDS. _
@bfwreild Qurrgm&s@urrm s o WTHS aﬂ@g&m LG eSlHEHISHET QG-

gngr #Gasl urwCs @z PHHw @mu UL SZinD . UORIBTSEHES @pﬁm aqslra)

anpiisLuREpg).

senaomoesf eﬁl@gj @b .aw&rrrma;ggsrrm L glenm ma)@n&@s@ aprstLGADG. .
Iw @ ° : (B) IV @G :

I, IT wpgd 111 , O TwoppdIl

55 o HC1GS/16
: ' [Turn over



: 140. During the times of G0vernor‘ — General Lord E].lenbbrough, which among the following acts
declared Slavery as illegal? | ' - |
&) ActVII of1833 B ActVof183
(© ActIMof1ses - (D) Act VIII of 1854

EpsaL.  apss sL_l_Lo aoauCrr  saufeni Gggamm)rr& @@M Qurpg! auq.mm wep .
slLfashpg erenp agﬂleﬁlm? V
(A)  1833- Lb DGR Fipreug) FLb (B) 1843 - b gyen.w ggsgtreug &b

(©) 1823- b gyemw pampraigi st (D) 1854 ib gyeimw e Lieugy sCL

141. Consider the following statements and choose the coi'rek:t answer from the codes given
below. | | ' ' ' -

Assertion (A):  Tilak became the editor of Vande Maf;aram.
- Reason (R) : He ;evemly criticized Christianity and Islam.
(A) (A)and (R) are true and (R) is correct prlanation of (A)
- B) A and ®) are true but (R) is not correct éxplanation of (A)
(©  (A)is true but (R) is false ‘
\AT . (A)is false but (R) is true

Qénaumd smpep suaésad: AsrRasiLL Garar RuiGssd Gmps slurer domu Gaiey

Qe
spm (A) apGg ISyD uﬁ,ﬂlﬂé@&uﬂdr u@ﬁun&lﬁlvu’.u;urs SHoai yemmi.
smpard R):  Afisgieud whpub Gevembd GramenLujib sGaiowrs Geuit el g,

@ (A wpgd R) Qren(Cuwo s Cuogyd (R) eremug (A) s@ sfluner lenszid @0
® (A wpyd R®) @Vﬂf@w &l gyame (R) Granugi A &g mﬂlulrm eflarésLde

© () s ema (R) g

@ (@) paup gems ®) o

HC1GS16 s e



- 142,

' Match List I with List IT and select the correct answer using the codes given below :

g L13tI .

- (a) WC Banerjee :

(b) 7. ngabhai Naoroji
© Tyabji

(@ George Yule
(a) ® (o

@ 3 4
®) 3 2
1

3

® 2

2.

List IT-

. President of the Second Indian National Congress

Annual Session ,
President of the Fourifh, Indian National Co'ngress-

' Annual Session

Presldent of the First Indian Natlonal Congress Annual

o Session

President of the Third Ind1an Natlonal Congress
Annual Meetlng

aflens I oL e auflens II — enems Gurr@gﬁ égp err@uuun.@amr Ogn@u:ﬁc&@p@ aﬂu.urar

e wblenan Qgfley Qaiis :

afles] -

(a) WC urengd

(®) | srgrumis AperGrmed

© Surigd
(d) grigguGe

@ ® ©
A 3 4 2
® 3 2 1
© 3 1 4
® 2 3 4

NI e

@

mtﬂm& I
Qrem_reug Spdu Ggéw a;mu&ll;em Q,swr@s am_l_ﬁﬂau
Smaeult '
prastaug @idu Csflw smdrer s anﬁl_gﬁdr
snaeuit
w5 @B o sTLBTG TGS sl e seeoaui

. apenpreug) @p,ﬂu.l (Bgﬂu.l &nm@uao gg,m'r@& aau_t..gﬁar

Seneveuit

-

57 - HC1GS/N6
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'143. Consider the followmg statements and choose the correct answer from the codes given

below.
Assertion (A): The Mushm League was established in 1906 by Nawab Sahmullah
Reason (R): = The Muslim League put up its demand of Pakistan in 1941.

.(A)  Both (A) and (R) are true and (R) is the correct explanation of (A) -
(B) Both(A) and (R) are true but (R) i is not the correct explanation of (A)
(A) is true but (R) is false
D) . (A)is false but (R) is true

&psargpd ansdwisemer sauefl. sflwren dleLewu ghllGaddnmbs Coipds0. |
. app(A): peuns sallapévadr eremicuyned apavellid 685 1906 b gyem® Higreuliun g,
- snpemd (R) : 1941 b e apevailid & undevgrer Carflsmamu wen Maubss.
@ (&) wpgd R) QranGGuw & Cogib (R) ereérug (A) dlpe shuirer slerssiongid
B) A upgd ®R) QrerGCw #M. yamre (R) aamg (A) e sfwmen sﬂm&suzmw ,
© @) el gamsd R) saup
@) (A pug geme (R) «A

- 144. Match the following and choose the correct answer from the codes given below :

(a) Subramania Bharati 1 Pratapa Mutaliar Saritiram
(b) Bharatidasan - 2. Kudiyarasu
(¢) Vedanayakam pillai 3.  Pappa pattu

~(d) E.V.Ramasamy 4" Desa Baktan

@ ®» © @

@) 2 3 1 4

® 4 3 2 1

©), 3 4 2 1
3 4 1 2

&@a;aiorl;mﬁ)mm Aurmsgis. sflurer sl ew GHuSEaaldmiz Care) Asiis :

(a) suyoefiu umd 1. = Qpgmi q,oﬁ;oSlmm’r #MgHmbd
(®)  umpfgnsen 2.  @rurs
- (©)  Ceaugprwsw Gdrener 3. umbururl®
() = Qau. gmosmA 4. Cgpsusgen

@ O © @

(A 2 3 1 4
® 4 3 2. 1
© 8- 4 2 1
D) 3 4 1 2
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145.

146.

147.

The first sermon was given by Buddha at Saranath was ca]led as “Dharma Chakra ‘

Pravartana which means

W Turmng of the wheel of law "~ (B)  Framing of the wheel of law
© Prmclple of the wheel of law (D) Philosophy of the wheel of law

- smmsng Grar@jlélggﬁm qg;;srr &g (y)gw aflersaL Gu@muu.m;o,ﬂu.rmg §rrw &5 Qreuiggem erar

_ awpa;&u ueuHen Gurr@srr

A Qmu.lsmo mrru.:uurn.@ mmﬁm &pmeﬂ (B) Gmu.tem.o eurru.luum_@ mupﬂar ;ﬂtrmuam '

(C) Quienw umiium’ () ssagsHen Qaretans (D) GLDI.IJ_GDLD surru.luurrL.@ mrygﬁw LY

Time taken by 5 members winnex_" team of a 5x1000 meters relay race are 2.55‘:, 2.15, 2.30,
2.60 and 2.40 minutes mspecﬁvely._Find the team’s average speed in km/hour

@ 24 L ® 0

© B - \p)"'zs

~ 5x1000 LBl_.l_rr Qgrrur @UL 58 Gmmgﬂ Gumm 5 —Gurr &Y cr@ggs Glsrrmn_ Gmum 2. 55 2. 15 '
| 2. 30 2 60 whpb 2.40 ;EluSlL.msm as@@a&lax synef Cussas A5, / wexf-Qéd srawr '
A 24 S ) ® 20

© .15 (D) 25

Three shirts and four pants cost Rs. 3, 680 Two pants and one shirt cost Rs. 1,680. Fmd the

costs of a shirt and a pant?

LW Rs.320andRe.680 - (B) Rs.300andRs.600

(© Rs.400andRs.450 (D) Rs. 310andRs.690

apenDy SLanL_SET LPMILD FreNE ST a._ml_.aaﬁm eﬂmm . 3,680 @WD. @qmr@ SNEO FLAMLSHGT LDHMILD
) a..an_ufﬂar eﬁlmeo a5 1,680 @0 @@ S mgpgm R ST oot uQein aﬁlmm wirea?

A o 320 HHID 05.680 . ® 300 wpptb ¢5. 600

© . 400 pgi> 5. 450 ©) . 310 wHpd . 690

59 | - HCI1GS/6
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| 148. If a+b=7 and a-b=4 then find the value of ab'.'»
55 | o : . 65

w <z &3

| a3 _ _ A
s ‘. .o
a+b=T, a-b=4 aal® ab Qén mﬁﬂq&n&r&.

@ = -
- 33
© = ® 1

149.- " Six bells comme‘nceé tolling together and toll at intervals 2, 4‘, 6, 8, 10 and 12 s_ecc'mds'
respectively. In 30 minutes, how many times do they toll together?

GV | B 10

© 15 . \@ 16

2, 4, 6, 8 10 vppw 12 Aprg G Caalsafic '.9.43@5@ wesflssr 8O Gs7 Sinssp
AsrLigdeapen. sema 30 ABL5HD arismer Yep @ CoT SigsGLD ot SnaRTs.
A 4 - : ®) 10
© 15 . @ 16

. 2
150. If % .-.% t_heg, find the value of ¥

DO x—yz : - |
@ % L W '%v |
© 4% o oy
":% arafléd : —@mmﬂumus;rrmrv o
% @
© -% L o -1
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151.

152

153.

15% of the total numbers of blscmts ina bottle is 30. Find the total number of biscuits in the
_ bottle. - : , : _ :
@ 100 | - @y 200
© 150 o i @ 300
80 um_qaﬂco e_crar Quwrgs Gum._q.saﬂar crmmﬂm&u&'tm 15% QIJ'II'l.Iq.&G! 30 sraﬂa) UITL.I.q.GS]OJ
2 &ter Gum._tq,seﬂar Qurgs cramuﬂms u.m’g?
@ 100 ' ® 200
© 10 . ®) 300
The inner and outer surface aiéa ofa hemispherical dome of a buil&ihg needs to be'painted (
If the thickness of the dome is 5 cm and the inner circumference of the base is 17.6 m, find
the cost of painting it at the rate of Rs. 5 per sq.m.
(A)  Rs. 480.2 | L@ Rs.50L7
(©) Rs.2553 @) Rs.246.4
SopGsrer Q.Nq.a.l Gwmmuuﬁlm 2 Lp  opmd Qmaﬂuqm mmmuuuzﬂ];n@ aifamd s
Gmamqua‘rmg SIS o LD aq.&&mmmq 17.6 8 mmmm §Iq.LDI.D 5 Q5.8 erafied, GgllJ'LBL.I_@S@
. 5 eSgib, auirenmb & 2G> Quorgs Asawmas sreins. ‘
A) @ 480.2 | - ® 5017
© 2553 - D) . 246.4
If - hem +, + means x,+ means -, x means +, then which of the following equation is
\,wf 52+4+5x8-2=36 \ (B)  43xT+5+4+8=25
36-4+12+5x3=430 (D) 36-12x6+3+4=60
- ereTug + u.|w +  eranug xiyh, + ereug) . —tqm x eremug  +ub Ghssre &Gy
_ Qar@asiul Beratenauulen TS FLETIT[H 2 @R D & MLLG? -
(A) 52+4+5x8-2=36 B) 43x7+5+4+8=25
(C) 36-4+12+5x3=430 ‘D) 36-12x6+3+4=60
61 S SR HC1GS/16
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154 ‘A flower garden is in the shape of a rhombus. The length of its dlagonals are 18 m and 25 m.
Find the area of the flower garden. :

@)  2%Bm? o ® 1w

o 2zsmt | D) 450 m?

O WHGsm L smisgrb mlq.eﬁlso o draTg!. Digen q,pa»a) I _husar 18 18, 25 (5. wﬁc,slmqsﬂar .

UPLILIGTEY STERTE. . | - _ K !
@A) 25m* | . ® 18m?
(© 225m? | © 450m®

:185. - A hollow sphere in which a circus motor cyclist performs his stunts, has an area of 154 m?
available to him for riding. Find the inner radius. '

@ Mmoo N e

©) - am ' . | (D) 6m

. '9@ e arafpp Gsnm,s@g;m o_l_qgmmr& R Fidsaw oS GuorlLmr essfafid gngsd Qendpr. -
. s snas Sy sTHED qu.lu.m ugliuerey 154 i8° erefled S&CararsSan Q_L..LLID Q,mmg STENE.

A 78 : . (B) 35LB
© 48 | . @ 68
156. Evaluate: 15__
_ Ji6 5 V20 + J40 -75 -78 : |
@ - \.eB(J_oﬁ/‘,
© -6 . @ s
oo 5

m‘ﬂ”'%s'710+720+740—7.5—78Q -

@ +10-45 . = ® V10+45
© B-410 @ 510
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157.

158.

159.

If Alends Rs. 3, 500 to B at 10% pér annum in simple interest, and B lends the same to C at |

11.5% per annum in simple interest, then find the gain of B in a period of 3 years.
"(A) Rs.154.50  (@® Re.15650 ~
(O Rs.156.50 . | \JPr” Rs. 157.50
Mﬁ)@ 10% safleu’ . sz, A erdmueuit B eréruaibée . 3,500 sL_ams ae‘ﬁe’sﬂdrmrrﬁ =Cs
Ggrrmmu: B aénuauir 11.6% pefl aul gy eS5580," C crarum@a;@a; sLenns Sieflsdempni. craﬂa).
@arm Sem@aia Ba‘amu.no @a)m.uo wrg?
A @ 15450 | . ®) @ 155.50
© @ 156.50 _ T (D) 15750
Find the simple mterest on Rs. 1,000 from April'9, 2010 to June 9, 2010 at 71% per annum. -
& Re1274 (B Rs.1250 |
(©) Rs.13.07 , o - D) Rs. 13.50
eu@x_g@m@ 7+% au._xq. sﬁlﬂMm FLIpD 9 2010 ngsa) g@m 9, 2010 ma)lyuﬂlgum
. 1,0005@m&nm§aﬂm1_q.u.m§|? » '
@) ©1274 ®) @ 1250
© 1307 | ®) . 13.50
Find the cost of filling a pit of dimensions 5mx4inx2n;zwith soil if the rate of ﬁlling.is

Rs. 270 per cabic metre

\y:)/ns 10,800 . (B Rs 1,080

(© Rs.10, 080 (D) Rs.18,000

515 x 45x 2 LB Sianaydrer *m (g;ﬁ LOGRTEUITE) ;ﬂguuuu@aﬁmg S sen |.8|_|_@5(§ LoeRTed ;ﬁlu’uu
SGLD Qmm . 270 arafied Glu:rrgg Qsoamaus m@l.glq.. :

@) @ 10,800 | . ® © 1080
© @ 10,080 o ©) . 18,000
63 |  HC1GSNe
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o
160, If the area and arc length of the sector of a circle are 60 square metre and 20 mei:re '
respectively, then find the dlameter of the circle C

(A) . 6 metre e \B(m metre

© 24 metre . : , D) .36 metre

3

@0 L sCsrams ugHuller upiiy 60 sgiy I.5I_I_H’ wHpd eféeSler Jﬁemn 20 L5|_|_rr craﬁa) suu_ﬁﬁan

AL Femgs arrams _
@  6diLi - L ®) 128Cui

© 248 - ®) 36BrLiv

161. A and B can do a piece of work in 18 days; B and Ci in 24 days; C and A i in 36 days In how
- many days can they do it all working together"

, \y(m | ® 12

@) 26

A, B @maumd g Casamu 18 prisafiér Geiig gpglui. B, C 2G5 Caimarmw 24 pm_safid
Qeiig @pyiui. C, A 2G5 Caumaenws 36 pm_saﬂm Qaiig) PigLIu. apauHD ('n’am]bg SuCamwenu

. erggenen pm_safled Qaug @pLiui?
@ 16 T ® 2

- () 13 | - | D) 26

o162, If 24 persons can do 180 Jobs in 15 days then ﬁnd the number of persons required to do
' 240 jobs in 12 days.

@ 38 SRV ™

© 42 ' - D) 4

24 %usen' 180 umﬂmm 15 pm_.saﬂa) WpaLur crafid 240 umﬂsa)m 12 prosefié Wubss

G,smsuuu@u: - setflem Grara»ﬂmmu SIS

@ 38 . S ® 0

© 42 - D M |
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- 163..

164.

165.

If the fractions 1 -:- ?5)—, % and % are arranged in ascenaing order of their values, which
one will be the fourth? .
7 S
A — ‘ Lo 2
A 9 _ - (B)> 5 .
SRR . . \,@/2
© 5 o ST
1256 . T o : o L
'2'3'9'13 WHMHILD 3 cg,ﬁmmp@;o gpeuflesuiie arapgib Cung, prerareug) eTe e1gl?
7 5
A - 2
@ 3 ® 3
6 2
C — el
( )7 13 1)) 3
If DELHI is coded as 73541 and CALCU'I'I‘A as 82589662 how can CALICUT be coded?
(A) 5279431 - , , (B) 5978213
\)zf 8251896 (D) 8543691
- ‘DELHY'. aesugen @Oui® 73541 WHGD ‘CALCUTTA’ crarugsat SRS 82589662 aefled
‘CALICUT eTEITLIB 6 @gb’luS@ eremen? _ '
(A) 5279431 , (B) 5978213
(C) 8251896 o ' v (D) 8543691
Find the smallest number which when diminished by 7, is divisible by 12, 16, 18, 21 and 28. '
@A) 1008 & 1015
(C) - 1022 R (D) 1032
7 - ;& Gon&EL Curg 12, 16, 18, 21, wpmb 28 - 24 uGLED BESy TRRTEHTS ST
. (&) 1008 : » ®). 1015 |
- (C) 1022 ' ' A ®) 1032
65 . ~ HC1GS/16
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166. The éum of the ages of Rani and Mari is 14 years more than the sum of ages of Mari and
| Nancy. Find how many years N anéy is younger than Rani? - .
@ 12 | B) 16
\}9)’ 14 o @) 28
prexfl opmbd Gl q,eﬁ(%h.lmﬂdr awgaeiian am@sd Cuf wimb praed ACurldr anugsafic
J;n@gsa)s;)& sTiued 14 eu@pLriiser csa@&;tb aTafled pr’rs&taﬁuw@r&u‘r,un@ﬂmmé ST @b aTHgmen
- awgl APflweur erans STy | | | !
@ 12 . ® 16
© 14 : o

167. There are deer and peacocks in a zoo. Total number of their heads is 80 ‘The total number of
their legs is 200. How many peacocks are there?

(A 20 ' _ - ®) 30 .

© 50 e

) eﬁléﬁaﬂu.gé) g,lina;né‘ilé), wrensEsd wIldEEsL o dratar. Seupdlar smosadn aanafidas 80.
e sraseficr aarafisans 200 arafie arsganar wuldsar o dranen?
@w 20 | ® 30 o
© s @ 6o

168. Find the coefficient of variation if n =10, ¥ =12 and Xx? = 1530
@A) 153 . ®) 144

© 9 o ”\9»’25'

n=10, =12 wpgd Ix* =1530 eafe, wnpum §s Asugemas sasd(s
@A) 158 . o B 144 o
© 9 - S O 2
HCIGS6 66 | e



169. Which vehicle is used to launch 20 satellites in a single flight on June 2016?

o PSLV-Cat . ® PSLV.
- ©

170. .

171.

@) g & srapbi

SLV | o . (@) GSLV

oen 2016 @, 20 gienr Canarasoa GCY peopidé clameiér Qogifs LLGTIOEHL cldrsai ag?

(A) PSLV-C34 o ® PSLV

© SLV | - D) GSLV

Pradhan Mantri Fasal Bima Yojana scheme was launched on Mazch 22, 2016 in
(A) Kolkatta -  ® Mumbai |

. (C) Ahmedabad - ‘ ' (D) Varanasi

Yysren wHHM Lgw Sior Cuirgenr QLL_LE Lonr& 22, 2016-&) SaukisiulL @i
(A) Qsrossg . B) pwumil
(©) siswrgTLTS '. (D) ergem

- In April 2016, Mehbooba Mufti took charge as the first women chief minister of

(A) West Bengal
(B) Assam ’
(C) Meghalaya

‘/CD’/ Jammu & Kashmir

glureé 2016 & G,Logng,a’v@ugrr.‘ Qb5 mnﬂwgﬂm'@gé QUi WPHD. D MDEFTTELI Qurrmmcuﬁ)mm'r o
A) - Cupe auriisTand | |
(B) Sevaomd

€) Gma;n'o.uu;{rr

67 , | HC1GS/16
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@
172. On which occassion the cyber secuﬁty Natidnal Action plan was unveiled by US president

Obama
(A)  World Creativity and Innovation day

\}f : nger Internet day -

(C)  World Intellectual Property day
D) World Heritagerday

<@ufiss sfuir gumor aps Bapsfludern rGurrg senflefl Lmgsmiy aima GaAw @LL.ga;g Spps)
DUGHTT? o ' ' | l B
A ocos o_sc'crué@b Qm@@u&m. Ugienw BreT
‘(B) urgETiy mq)argmvprrdf |

©  comifloy usiny pre

D) eosahfC g prdr

"173. Where was The World Happiness Report (WHR) 2016 released?

Rome
B) Denmark
(C) Burundi
©) Norway

o8 a;i(?gnqq. a@&m& M) '20 16 GrréJ@.quﬂuSIL.L'mn'_t_g?
A Cymod |

4:)) Gl_slirmrrr'ris

O umemy

D) priGa

HC1GS/16 | e | o €



174. Where did the Indian Air force successfully conduct Exercisé Iron Fist 20167
| \,(x{ Pokhran = - ~ (@B) Odisha |
(© - Vizag ) (D) Goa

' @;’pﬁudﬂmn&rﬂqu “aésamsav swier Gev 2016” 8 Qaupdlsyors eiE pl_ﬁéu.lgj?
(&) Qurégren (B gusr
©€C) eoausns . ' ; (D) Careur '

175. The official Olymp1c stadium hosting the opening and closing ceremomes of 2016 summer
* Olympics at Rio de Janeiro Brazﬂ is

(A) Rio Olympic Arena’
®) Olympic White water stadium
\}ef Maracana stadium
D) Havelaﬁge Olympic stadium

BCredeléd 2 erer AGWT 1 Qggaﬂcmreﬂa) pL&@ 2016 gaﬂl.m.‘ﬂa; Gum_nq.asaﬂm gms&m LHOHID
Qig ey eflypréser meQumaﬁlqys@jw eflepemum_( ammasw 6@?

A) ACwr @b 9s siferm
-®B) dlb9s @uilC eurl LT SIFRIsLD
©) wrésrem gﬁlaamu.uh'_@ éll!lﬁl&li)

. (D) apaeri @lblls elleverum’ B SigrEsD

- 176. What is the total flight duration from launch to landmg in space for Swadesh.l Spaoe shuttle

launched in May 2016? :
(A) 640 sec. _ } (B) 660sec

(© T50sec B 770 sec

2016 G W, AsgussriuL s6s8 HarQaal sosfpe. darafio qeuuuu_ﬁcﬁl@mgj effleir
Gaafiuiler Gpis@td sucwlqmar Qunrss u ;os@.o & BieTey Greusuen'aq?

(A) 640dflemg _ . (B) 660 e&]amnq.
© T50efemmg | (D) 770 eflemy

e - | | 69 L HC1GS/16
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177. " Ason J une 22“*"I 20186, India’s latest earth observation satellite i is

W Cartosat — 2 ‘ D (B) Cartosat — 2A
(C) Cartosat — 2B . "~ (D) IRNSS-1G

®Oear 22, 2016~@m uyg, s SeRTeulo qmuuu_ @p,ﬂu.lrreﬁlar qe&lwaﬂuunmm

. QewpearssCandr Qgaunrd '
(A) Cartosat—2 : ' (B) Cartosat — 2A

(C) Cartosat - 2B ‘ a (D) IRNSS-1G

178.. Who swprn‘in as _‘tl.ue Prime M.inisbei: of Britain in J uly 2016?
| (A)  Andrea Leadsom (B) Amber Rudd
(C) David Cameron . \’(Bf Theresa May

. g% 2016 - & IR Leflér Ay whHAwWTs ugACGLHpaUT wimit?
A spemgfur Ssmb B) <yt g -
(C) GLe’ Gawmenr : o) _ Ggu'arf Guw ' o

- 179. Thev summer Olympic games of 2016 'has commenced on
~ August, 5, 2016 : . (B) ' August, 2, 2016
©) Au_gust, 4,2016 ' (D) August, 3, 2016

2016 o1 <Q,aﬂrru;.«:ﬂ (Swréu_srra) geﬁtbtﬂé'eﬁ]mam.n_n'_@u Cumigser Qgm_rudlu prer
@  asop. 5, 2016 - B 26,2 2016

© s, 4, 2016 . . (D) s@.3,2016

180. The Prime Minister has implemented the ‘Stand-up India’ écheme_ to empower

(A) Scientists . W Entrepreneurs

(C) Doctors .= - ~ (D) Teachers

Qg wHHA ‘s Hé Qpdun’ arenp HC Lz aq;ﬁlqp&uu@g.ﬁu.lg ——— sa;l.naﬂm
A)  dgseprafisar - B) mmﬂseﬁ]u.la)rramsm . '
©) m@ﬁg@ﬁdﬁ ' D) Hfwuiser
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181.

182.

183.

184.

Where was the World Cultural festival held in March 2016?

(A) Kolkatta ' (B) Mumbai
\J@~ New Delhi - . (D) Gujrat
woriré 2016 - & 2 @& soTFFNy eblpn eTRIG p@u@uﬁmg?'
(A) Qasrosgsr ) : B) weou
© ug o | . O egms
The SAARC Disaster Management Centre is to be estabhshed at
() Pokhara , \Br New Delhi
(C) Lahore ) (D) SriLanka
P (SAARC) Guu@m Gmamsmmm enwowd e @@uug;
(A Cumagr - : , B) uzflad
C) omsmi i D) Paiiens
The air purifying instrument “Blue Air sense plus was mtroduced in Chennai by wluch of
the following countries? .
(A) = France _ ' (B) USA
uﬂf Sweden ’ (D) Denmark .
’ slr;pmm mgﬁsrﬂa@m @u.:pﬁmo iep it Qe Qerev” - g Asaraanfd auﬂ@,psw Qg pr
(A SQgrena oo : B) =Qufiss gadiu BT®
- (O evelLar o _ D) Qremontd
The mobile App launched by TRAI in July 2016 to measure the real time mobile mternetb
speed is ,
Q) PMIS AU ’ ®B) eNAM
(© GARV - N @7 My Speed
RO 2016 Zo, TRAI @améd a:&u(?ueﬂuﬁlar ;ﬂsw@;ﬁr} ey Gm&gﬁmm& s
ng_ma;uun_l_ asCUA s (App Lﬂwatgu LwieTUmT®) <,eg) ’
(A) PMIS : : * (B) eNAM
(C).  GARV o ~ - (D) My Speed
m - HC1GS/16
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185. How many agreements are there in Chabahar Port deal that Ind1a sxgned with Iran on

23+ May 2016? |
(A) 5 agreements - (B) 7 agreements
\}e)’ 11 agreements o : (D) 14 agreements

23, G 2016 & @pHur, FFTGL 6o m&@u.j@wt..@mm sUSTT ga);o@pa; @uumwﬁm crggmar

@UUBSEISET :Leﬂmar? ' -
Q) 5 guiLpshser | . (B) Telupshiser
© 1goupsisa (D) ldgiuppiser

186. 'Among the followmg whlch is the maiden space shuttle launched by ISRO in May 2016 from

- Sriharikota? ‘ . )
@A) Prithvi . ® Ami
(©) Swathi . \yf Swadeshi

£Epesam_a.l,mgm Gw 2016 @ ISRO cﬁlarrrm gﬁgplﬂa; Gsm_l_rreﬁle&@pg sﬁ]waﬁﬂa) Qagu,sgsUULL

 pgemd e&]m@maﬂ s Grgj?
@ angd L ® s
© samd @) sCsh

187. The historic Pa.ns Climate Agreement which was mgned by 175 Nations on Apnl 22 20186, is
related to

(A) World Environment Day
\pr Earth Day

(C) - World Ozone Day

(D) Human Rights Day

unfe msiﬂm guge 22, 2016 & augeonpm @p&ﬂu.:gsgmm Qumm ajrraﬂa)a) @uupggs@e) 175 pn@sar
Qzriins enaQui(psSH L an.

(A) -> 2 & EHHIFSPS Hed
B) yeil Hamd

©)  ewsgCsmer Hamd
)] _mdﬂg 2 _fevwser Qem.b
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188. The country which has announced that it would soon adopt the Chinese Yuan as its main

189.

190.

currency is
(A) Nigeria ¢ (@B) Congo
(C) Tanzania © -\ B Zimbabwe

Sameflen sndlg BHresmuLOTEN 'méms‘ur'—g S ‘[bm;l'q.dT Gygrer sTdg prewnuwrs HEEICUTUSTS

- ofiefsgieer 51l |

- (A) epgdfiur o : _ ‘ ®3B) srCs
(C) vLrensmafur _ @) @Lbum;lca}
Leprosy is cal_xsed due to

(A) Monocystis

Tobacco Mosaic Virus

\jﬂr Mycobacterium

(D) Salmonella

QAsrp Cprenw 2 (Haum&@augl ergi?
A)  orCamefevgey

(B) ysseo Quoress e
(Q vsm.oGsrr Cusefwbd

D) evrdwQearden

The téchxﬁq'ue fbllowed in ‘Test tube baby’ programme is

&) GIFT T

(C) ICsI | L - D) IVI

“Gerr#ww @mmﬂ Epbos” Pepsfide GaupssILEL AEHd BILb

A) GIFT . (B ZIFT '

© ISl - S ®) IVI |
78 | N HCIGS/16
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191. Match List I with List IT and choose the correct option :

A4)

®)

Act
Air (Prevention and Control of pollution) Act
Water (Prevention and' Control of pollution) Act

Wild life protection Act

‘The forest conservation Act .

l—-a;’2—e;3—c;-4—b

'l—b;2—c;3—e;4—a'

'Lyx’ﬁ-c;z-gﬁsfd;4-b

D)

_1—e;2-c.1;3—c;4—b‘

(®)

- ©.
(d).
()

Year

1986

1980

1981

1972

1974

L igwé Ig Ut quid I o e Quragdl sfwnar eflen_eows CorpAs0 :

@
®)
©

®)

b
g:r;i)g @n&urr@ SEULEF s LD
g&raaffrmrra‘.urr@ SRLILE s L1b
@an é.uﬁlrﬁcmj UNGISTUILE S 1D

QUSTLI UMGISTUILE &L 1D .

l1-a;2-e;3-c¢c;4-Db
1-b;2-¢c;3-e;4—-a
1-—c;2—e;3—d;4—b

l-e;2-d;3~-¢c;4-Db

HC1GS/16 : | 74
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192.

193.

In Tamil Nadu the vocational training for Aemployment project was lauhched in the year

2000, in partnerehip with

(A) International Monetary Fund

(B)- World Bank

\’(Z( Umted Nations Development Programme

D) Internatlonal Development Assoclatlon

‘ 51.6]59.[5“1_1:;.&) wr@enLw aam.@ pumlq.&m&uﬁlar gpeLd Gmmwmrru.:u:&]gp&nm Qsmfe Hper LGHE

AU L1b, 2000 b cg,aairG ngJIEISLIUI_I_gl

' (A). uerarr_® Bl Hlpeuerd

('B).. 2 @& eurtdl

(©  pobdeoarsCshu A 5EH SLLb

D)  uére @ ewenitéf G

"Which of the following aimed to create oommuhit;y assets for stfengl:henixig rural

infrastructure" '

- (A)  Integrated Rural Development Programme

(B) Rural Landless Employment Guarantee Programme

\}E{ National Rural Emplbyment Programme

(D)  Hill Area Development Programme

SPSML Gérr;i;guis&mm. e..@amsaﬁ | Aoy 2 dtEl el _si.laﬁa;enm LOUUPSES
Spssam_apPé apHiL b @PéCarams Qaren(areng? -
Q) enrulmaps eays euarrwélgs Sl b |

B) Jﬂeom,rj)m Sgmo Loé;a;eﬂe%r Gmmdmrru‘.ut:q 2 midl ﬂLl_‘Ib '

(C) Ggéu @qanQm Cameaumiiys @nil..tb |

@) weel ugd Cobur G S b ‘

75 S  HC1GS/16
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194. Which of the following is correctly matched?

(4 RXK Puri ~ Governor of Tamil Nadu in 1975
W Bimal Jalan — Governor of RBI in 1997
© Dr Vljay Kelkar - Chairman of 12 Finance Commission

(D) Lal Bahadur Sastri — . The First Chairman of the Indian Planning Comlmssmn .

B 5;955wn_ sppsaiier sfwrs Qurr@pgmmp a;cur@lﬁhq.ucqm '

(A RK.yf - 1975 & gfpBT_igé %@pn
(B) Soméd gorar — 1997 & feids auiiulien c5@5'[5"
(C) Dr. eflguQsdasr = 12™ ﬁﬁsg@eﬂm Seneeuit

D) wiréd uagat srav il — GpHus HlL sGpeilen WPES sl :

195.‘ Which of the followmg Five Year Plan of Indla has stressed ‘Expansmn, Excellence and

Equality’ in educatxon" ‘ _ )
\,(e( 12% Plan R (B) 11%Plan
10#Plan . (D) 9= Plan

@pduralle, <aps bgren®  Alb &maﬁluﬁm | eﬁllﬂsq sy, soflee’ gdHuapep

mﬂwwﬂmﬂ? 7 |
@ 120800 ® lbgow
© 106 © 9bHiid

196. Which industrial phase is called the period of Industrial Recovery?
Phase I 195156 - (B) Phase II 1965-80
\y/ PhaseI[1981-91 '~ (D) Phase IV 1991-92 onwards

: thr@d)' AT srab crém aqmpé‘.&ﬂu@tﬁ QsmPé Heves wg?
(A) Pere 11951-56 S B) fow II1965-80
© oo I 1981-91 - D) Heve> IV 1991-92 Agpsy
HC1GS/16 o 16 - €
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197.

198.

199.

200.

Dunng wluch five year plan of India National Development Counc1l adopted a 14 point
resolution to achieve 4 per cent agncultural growth

11t Plan o ' - (B) 12%Plan
(C) 10*Plan ) ; . (D) 9t Plan

@pﬁmmﬂm abs mpsrerH ﬂu_mﬂa) Gpeﬂu.l aueiéflé Gy, Caammaimanto gmpuﬂm prrar@ sgeliz
aenréd s, 14 subsd skl fLaigsamsaw e maursdug) ’

(A  1lovdiewd A 3B) 12 u:ﬂl_Lm
© 10bHw S @ 9bgud

Who was the chan'man of the Twelfth finance comnnsslon oonsututed by the presldent of
India? _

"(A) Raja Chelliah A W C. Rangarajan
(C) K.C. Panth (D) J.P. Neogi

@i gemHuBund siewssii L 12 ag ;ﬂﬂ&@@eﬁldu gscncpeu.i'r wmir?

(A) grgr Qedenarwir By C.ymsgrgen

© KC.ups : @) J.P. BCwnd

Indian Economy ié a/an ‘ _ :

(A) Developed Economy - *  (B) Undeveloped Economy

(C) Industrial Economy o WMixed Economy

@S Oun@mgsﬂnbl o®

(A) aanips QurgseTTETILONGLD (B) aerrg QuIEEMSTTOTELD '

© GamPé QurmamsoT@d D) seuyL QurEmeETSTILIEGD

A Identifj the Twelfth five year plan péﬁod of India

@A) 2007-2012 . ® 2008-2011
(© 2011-2016 S APy 20122017

@pHurelen LereQpar_reaug a@;isgrraisr@g’s S gfen snagmgs sandGlnés

(A) 2007-2012 (B) 2008-2011
© 2011-2016 D) 2012-2017
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